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CUET ADMISSION TEST 2013-2014
Chemistry (Written)

01. et SiHe o9 726 o< | @3 fAMe sl 1.0L @36 2@ 0.7atm 5t 90ml sifsces aa
0.8atm 517 60ml RGeS e T4 29 | fReeba G o171 T Ta?
Solve: et S 517 7 : g Siwiar e STeE =1 kT A= RfFRm 12 91 srelfs iew
o= famea 1B 5171 et Boifgs styer svyras S sieors Tfeg 1 |
[P, =0.7atm. P, = 0.8atm, V, =90ml, V, = 60ml, V =L =1000mL, P =7]
90% 0.7 +60x0.8

1000
02. farsa fefemete 7= T @32 &4 SeAioE i fod:

(i) FeCl, +H,0+S0, —»

(i1) Zn(OH), + NaOH —

(iii) CH, —CHO+NaOH +1, —>

(iv) AgCl+ NH,OH —»

(v) HCHO+ 50% NaOH —

Solve: (i) FeCl, + H,0+S0O, — 2FeCl, + HCl1+H,SO,

— P=0.111atm [Ans. 0.111 atm]

T : PV =PV, +P,V, = P=

T (FRIZC
(ii) Zn(OH), + NaOH — Na,ZnO, +H,0
ez ferees
(iii) CH, — CHO+ NaOH + I, — CHI, + HCO@Na+3Nal + 3H,0
SCHITG A

(iv) [AgCl + NH,OH —[Ag(NH;), [Cl+ Hy0
sy AEer (1) @Rize
(v) HCHO-+350% NaOH — CH;0H +HCOONa
03. <=5 we 735 SEarE s 27.6% € 30% SRS Wik | I 99 TR e e M0,
T2 "o T TEIEE TIEEE AUEE w98 BT
Solve: 2%= S3rs, e =27.6% .. €% =(100—27.6)% = 72.4%

o2, aree eEsEE =2 =M .ZT“J—'\_:?XIUU=72.4 —M=55.96; 4f, &Sz s=izs MO,
IVl +9X

feers szte, Sams =30% @E =70%

—.—-'1—6\—)( 100=30 =x =i .. TICFS MO'}, al Mzoj [AHS. M203]
55.96 + 16x 2 :

04. «@%f SoRfifvaa Fo wie 20ton o W@%ﬁﬁ?& | T tafees s 30000 sec FwE T O
4TSt Fe TETE s € ¥ Amp e *few e 23z (1 ton=1000 kg).

7 2 7
Solve: W =ZQ: Q=l:;)(£j=2.l4x10”(3=2.223x106F
Z 932x10 7
2 1 W=20ton=2x10"gm, t=30000 sec
T[E, Q=1It .‘.I=~9=ﬂ1—0—:7.13x106A 27
t 30000

Fi e il ety
[Ans.2.223x10° F, 7.13x10° A] _ 3% 96500
www.bdniyog.com
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CUET Admission Test 2013-2014 Question & Sohve
05. fesa Safs c@eete AMofe s @ |
(i) Picric acid (ii) Benzophenon
(ii1) Uric acid (iv) Allayl alcohol ~ (v) 2, 4-Dinitro phenyl hydrazone
OH 0
O,N NO
Solve: (1) Picric acid : ~ : (i) Benzophenon : @— yz@
NO,
!I-[ O
N
(ii1) Uric acid : O< M (iv) Allayl alcohol : CH,CH =CH, —OH
NN
H H
NO,
(v) 2, 4-Dinitro phenyl hydrazone : R — (li =N= N @ NO,
H

06. Pracsm syEifRe g AT=BGNe e et o |

e 0OCOCH,
Solve: sy meczee : (O 00T+ (cis00),0—2= (07 “O + cr.coom
A
H O
Ay e : HO<0)- NH, + (CH;C0),0 — HO <0)- N C—CH, + CH,COOH
ApiaifBTE
07. ﬁﬁﬁﬁﬁmemﬁwmwwaw @%Wﬂmﬂﬁmm\m
ONa
oy T @ e @COON& . @,COOH
g 125°C HCL
ONa
iz By fafe @ +CHCI, + 2NaOH—< > @C”O+3Nac1+2ﬂ 0

8. 25°C we@E, N,0,=2NO, RfEfre N,0, @ NO,as =i stsl W@ 0.75atm €
0.25atm | fafeFaiba K, 8 K &3 9 T 22

Plo, _(025)

=833x10% atm; Kp =K-(RT)" | P, =0.25 atm
PN;O, 0.75 P C( )A NO,

Solve: K, =

e U —3.4%x10"° moldm An=2-1=1

K=
" (RT)™  0.0821x298

[Ans.8.33x107 atm, 3.4x107 mol dm™]
www.bdniyog.com
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09. fes s 3rama g oG gER 2o @@ S ol ez Sl eme seea w7 (i @@ 9
CH,(g). C,H(g). CO,(g) @ H,O(g) @a 7ioq ©i7 2@ —74.89. —84.52. —393.30 «@<e
—220.9kJmol™ |
Solve: CH, +20, — CO, + 2H,0
et w2, AH = —393.3-2%220.9 —0— (- 74.89) = —760.21

. &fS g1 vize el 22716—2'2—1=—47.51

C,H, -%02 —2C0, +3H,0
QA TR, AH =—2x393.3-3x220.9—0—(—84.52)=—-1364.78
afs ] wae Ol = — 132‘;‘78 =—45.49 [Ans. e gt fZewa @ S (]

10, arer ot for 3fF 25°C stnmam soififs aftes pK. =4.76, ©@ 5.0pHEq T9[ g99 Enfoam

SIFTES (2t feeitg eggs w41 ar?
Solve: pH=pK_ +log—— [Salt] :>5:4.76+10g[sik]— PPK. =4.76 , pH=5.0
“[Acid] [Acid] .
== logEaE]— =0.24 M—I 738
[Acid] [ACId]

[Ans. 5.0 pH <3 3w 839 tofd Face Tifeameniies ¢ witts oo 1.738 smeire firics 2@ 1]

atics (Written)

L X7 +px+8=0 TR &6 T 4 @R X + px+1 = 0 SN T7 7B 2712 70 | 11 @3 3 ¥
Solve: x* +px+8=0 a9l o ¢ 4 %0,
t+4=—p; 4aa=8 a=2 @R P=-6
@9, X* —6x+n =0 TN T B 2, 2p=6=p=3 4%, p2=n=>n=9 [Ans. 9]
2% ﬁma&mﬁaﬁwﬂnﬁwwwﬁﬁcﬁw TP TTT A e

Solve: S+ 0] e HeTF 27 AT~
m,§:1+11+111+ ......... n AP A A" m,?=9+99+999+ ......... n IATF A=
yd n—1 IOH_]
=(10-1)+100—1)+.......n 78 7= =10(1+10+100+........+10"" )=n =10~-—-n
70 Tn 70 Tn
o= 10" —1)——— [Ans ]| ==
8]( ) 9 I 81( ) 9]

13. 16x°+9y" —32x —128 = 0 Seiqafbe ey «ag coverapet focfe) 257 |
Solve: 16x* +9y”* —32x —128=0 = 16x>-32x +16+9y> =144

o
Il
= L

=16(x 1) +9y* =144 i vy ‘ i
9 16 |

CRTF =8 TEIF =6 (F@¥9 =mab=12n [Ans. 8, 6, 127]

S @R 9T qefieE @ e 12’ i HTTCLTT ST TG 35T
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Ix Ay =11 @® [2x —5y =2 @GET TS! ISP (GG AAwd 767 =9
3x+j4x—ﬁ11 2wbisy o e Y
VB2 42 V127352

(—ve) Fmm TErEee TRdes AN A |

e sy D — —
gaidy—l1_ 12x éy 2 . 30x +52y —143 = —60x + 25y +10
-

Selve: sy Fafesss,

—99x +27y-153=0 =11x+3y—17=0 [Ans. 11x+3y—17=0]

5 ;-ﬁyztan"———m__lm,wﬂaammaw
X dx
Selve: (a) }':lan"él—l‘Ll
X
ket x=tan® ..O=tan'x
L Vl+tan’ 0 -1 , secH—1  1—cos® AN\, 9 .0
y—tan' — — —fan T —tan'—— =tagf\—=—
” tan6 tan© sin© 200
a
——=—tan" ﬂ=l 1, [Ans.l. 12]
2 dx 2 14+x° 2 1+%

51 =% v = a cos (log x) + b sin (log X) 27, O &F4 3 @, Xy, +xy, +y =0.
Selve: (b) y=acos(In x)+bsin(h1 R (i)
= —asin(inx) - bcos(lnx) LRE=a sin(In x)+bcos(h1 -y e i )

Tl X X
=y, =— acosj(lnx)_ bsin(in x) = x%y, =—acos(Inx)—bsin(ln NQ NN (1)
x* X

L i) e (i) 3, x2y2+xy, +y=0 [Showed]

o
y p lh IN

2
6[ sinX + cosx

d 1 dx
Selve: (a) f——— g =T_[ 1 : =_I
BEERSOALNR 2 sng = ldosx N2 cos(x——-]
V2 V2
‘ : ot [ i AlE
= s L ﬁ)dx o e PR 300 L et |7 o 20
= |sec| x —— — = s =l —
v2 - -+ 4 2 J:sinx+cosx V2 S e g
0
3n 37
3 1 - 1 tan—g— tall—S-I
=—1In anL )— hnan[-—) - In . [Ans. —1In
~ L ’\/5 8 \/— tan ‘/_ '[a,nE

www.bdniyog.com
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CUET Admission Test 2013-2014 Question & Solve

(b) y* =x I@@A @ y = x AT A NIRE CRead R el 1 |

Solve: (b) y* =x €= y =X JHIYE I AR, (x, Y)E(0~ 0)= (L I) W
1
=
0
I I 1 1

A= ['x.ix: ix:J L .'.AA:A,~A2=%— =— [Ans.— sq.unit |
s 2 2 3 6 6

Ll

Ll | b2

| =

17. === =2 @, 4(sin’ 25°+ cos’ 5°) = 3+/3 5in 55°
Selve: 4sin” 25+ 4cos’5 =3sin25—sin75+cos15+3cos5 = 3sin25 —sin75+sin 75+ 3sin85
=3(sin85+sin25) =3x2sin55c0s30 =3+/3sin55 [Proved]

18, <35 @2 s AB, ¥ 3m ¥ @ 79 eww 50kg, 75 fofe A 4w B @x B S wuE | 150kg
SEIE T (TS TS Mive T A S 1m [Rrs fefeam Bom 5 o 517 ege 2

Solve: AEz%:l.Sm; AC=Ilm ..CE=0.5m ¥ C D E B
Now, 150.CD = 50(0.5—CD) | ’

~.CD=0.125 .AD=1.125 93 BD=1.875 150 ke

@, A 8 B Regrs o+t P, 8 Py &, P, + P, =150 +50 =200 kg glne

P, AD=P; BD; Py x1.125 = (200—P, )x1.875: B, =125kg ; P, =75kg [Ans.125kg, 75ke|
19.  aof6 M 200m/s @il WSt Boizm frees o ol 257 | 93 10sce. o9 So G0 FAME A2 FF (AH

m%m%%ﬁﬁmlﬁwawasmwmﬁfﬁsmm%@aﬁmmﬁﬁw|Cﬁ'm

SMtE, g=9.8m/s’ |

Solve: YN FA JZG T, H=¥=2040.81m; Tt >, t:&
g 2
1

- fadtar it yfire 70, 1= (20.408 -10) =10.408s; h=V, t-_gt .V, =247.08

20. o favre @92 e e 10, 20, 30, 40, 50 m/s (RIS @AY (AR TP AL oG T
45°, 60°, 90° @e 135° (4 BRoig 7 | ©itwd Fifag Wi G e iy 99
Solve: Fcos=10+20c0s45° +30cos 60° +40cos90° +50cos135° = 3.7868
FsinB =0+ 20sin45° +30sin 60° +40sin 90° + 50sin135° = 115478

F=vF cos’0+F’sin®0 =115.535 . tan0 =220 _ 30 495
FcosO

=20.408 s

[Ans.247.08 ms™,0 = tan~'30.495]

Physics (Written)
21. &= T T 47 W 20ms ™ @Ol 5 o w9 | A Cqieen @t 15ms! 2ee @9k w9 2km e
A TS ATE TGRS T A2 G a1 (@ TS 2@

Solve: 5/& &1 =+/15% +20% = 25ms™ >

20ms’

T &% F99E T @R BT = 200050° = 20ms™! 90°

2
.. ACAEGSIT A, 1:%:%:10% [Ans.25ms ™', 100s ]

www.bdniyog.com
SN 4R 4T qufirt e 14 AT I [ ..

15ms”




BDNiyog.Com-10
CUET Admission Test 2013-2014 Question & Solve

22, @3 GEEREE A WG 250m @9 AR ATREd NSl g Im | 9™ S0m Gl ber o1
T STETEN - T AIREE TR ATSCS [SerE AR ATS WA TR Uy TS A?

Solve: tan0 = =0.0787; v=>50kmh™ =13.89ms™'. r=250m

rg e
0 9 3 tanO =sinO €@ T h
0]
A

. h
sm@=-—=l -~ h=00787 m=787cm [Ans.7.87cm ]
OB Im

23, I OTES e i) BIFTE 100cm €92 FIITCE 95cm | (T IEE Foag I SEE M O3 GO

f& sifaaew za?

Siolves (T =2 |- CWWWE,—LL:&

g L, g
Um@mﬁ@m@ﬂ"ﬂ@’ W]' :&:h:@ .'.W1=@ 1=[1+_l_.' & TSR
W, g, L, 9% g5 P 19 )

[Ans.l @ M ||
19

2. (T ZTE SO (AT SR SR S g Ay IETTE TR 29 | 0T AT IgEeEE 5 Asiee
QRS B T Z0A QR ZE AR T F7F R0 TSl e o |
Solve: (IS IFHTAA STAST @7 T T AT ©f2 Jrges U el 0 SR Sibesd 2=

4, et oA = P A T ST, V, 7 s, V, =8V
T 517, P, =101325 Nm™ 5 21000 kgm >, g=9.8ms”

P, =P, +hpg
PV, =PV, = (P, + hpg)V, =P, x8V;)=h =72.375m [Ans.72.375m]

25 el fifTeiE fFs SRECe 0o SiEed 1x102m’, s 300k @92 514 2.5x10°Nm™ | Siefil
R e fow e A9 99 2 | B 51 S 1.3x 10" Nm > =6t | 597 Sifsiee ¥z =9 fAfa <<
oreat otz R =8.317k 'mol™ |

102 x2.5%10°

1.3x10°

-1.9x102 -~ AV=923x10"m’
P, =2.5x10° Nm~, V, =107 m’
P, =1.3x10° Nm~; V,=?
26. = 0°C wiEmi@E 15gm T 60°C SIm@m 60gm =iife arfce firien 27, e siefar] facfa =2
Solve: 44 ¢ oi@l = 6°c 0,=0°, 6,=60°
mjl; +m;s(0-6,) =m;s(8, 0) m, =15gm = 0.015 kg ,m, = 60gm =0.06 ke
—0.015%336000+0.015x 4200% 0 Eimy WA s :
| s=4200Jkgk', 1 =336000 Jkg
=0.06x4200%(60—6) =0 =32 [Ans.32°c]
27.% efwid g (@, 37 T3 @IeR W =tae (@ T &) T T &S *E SIS TS S W 28
Solve: 49, 3 @& = v, TR (@7, u, =v

Solve: PV, =PV, ..V, =

PAV

9qq, n = T =0.925; m=29.6 gn [Ans.29.6gm |

SoiT® T, fle=——f =—'f =~ f =oo [Proved]
v—u V—V 0

8

nnnnnnn Il

OO0
\AAAAASLSASL u{gy.\,\n L]

ST EeT ZET Soae ..

L GRS 9% GEfHN (i
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28.* @fo 1000Q 97 SFBfdR 15V “feias | corfibrta @@ 250V 4= Mois & <) Semme 360 204?
q
Solve: n:_215__0:_.:0_: R:(n—llr :R:[i—Oule]OOO =15666.67 | Given, r =1000Q
2 5]

3

[Ans.15666.67 Q @is TS 7@ FEUe (A (]
29, wﬁwmsmﬁﬂwwmmwwwmm|ﬂ?WWﬂmﬁﬁiiw
20em 7is e @ Aedl o | PR SR Srde g 20 180° @it T@ foer o fare fag

e
M xM, M, xM, M, (x+20)
Solve: ' — = 2 2 — = 2
4n(x+20) 4n(x-20 M, (x-20)
YRR 79, ;\4—’: (X+])2 ; (XH)E = (X+20)z X —2—X:>]=20 [Ans.20 cm |

M, (x-1f (x-1f (x—20F 21 20
30. (%) =4y 8 w49 g ARIRE T el 99 |
Solve: (¥) sirw<t &if|, N = N“e“"'

L . 0.693
LECR t:L. N:Nu ND :Nne 2 5 1n l]:_lT] :}T] :l_n..%zg_@ [AHS. T] =___l
2 2 2 K <) A A
(}) fEam= o7 w7 oadr 6800A | @z FrEfTerTS el o4 |
he
lve: (¥) g=— =2.92x10""J=1.82 eV 0
BeEn e . o e ‘Given, A, =6800A = 6.8x10"m

[Ans. 1.82 eV ]

English (Written)
31. Translate into English:

(a) (7 2@ Tohos &= a2 Fa0e BT Ot BLAE HI-TS 207 |
(b) COrwE (@ FbTS @G T IBGP IT 47 [T e |

(c) ©MF (82 TR Sive 7, ©F w2

(d) 3= SRR o Gk Feees okl o |

(e) &ps IFos =27 4] @S e vy «ofs vy o R RS |

Solve: (a) The student who wants to receive higher education, will have to learn English.

(b) The school you read in, was once very famous.

(¢) None of them knew the answer. did they?

(d) Those who have sacrificed their lives for language are immortal.

(¢) In spite of having a lot of natural resources Bangladesh is known as a poor country.
Translate into Bengali:

(a) Patriotism teaches a man fellow feeling, fraternity, love and sympathy for the country men.
(b) We hate those who do not realize miseries of others.

(¢) Can you think will happen if population of Bangladesh grows at such a high rate?

(d) We shall have been waiting until he comes.

(¢) Most people do not try to improve their conditions with hard labor.

Solve: (a) (T TEICE FHIOTINY, TGN, SFP GI2 (AT TR @i 12usT 20w e |

(b) A ST A1 LT T A, SR ST Yol R |

(c) of 5 o1 == “i1 =5t 9B A teenTaTea ST G BHRICT TS ATF?

(d) fof ST Seter= St Sieersst S90S A< |

(d) Sfs=1e=t cemiee wtdre wifemica s %Wi%@?ﬁ (5B T 7 |

EHW GIERF 9T GUirE @9 16 ANTTCCTT ST T H9I5TT...

(V5]
)
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33.  Write meaningful sentences with the following phrases:

(a) Far beyond — (b) In order to — (c) Out of the question —

(d) Worthy of — (e) First and foremost —

LIS
hn

01.

Solve: (a).Far beyond : The situation was far beyond our imagination.

(b) In order to : We study hard in order to do well in exam.

(c) Out of question : It is out of question that he is an honest man.

(d) Worthy of : You are not worthy of this prize.

(e) First and foremost : It is the first and foremost duty of a man to respect his parents.

Match parts of sentence of column A with column B to make five meaningful complete
sentences:

(a) The farmers grow good seeds so that That I can accompany you all day.

(b) Unless you start writing at once Were a mad man.

(c) Hardly had he reached the college You will fail to answer all questions. |
(d) He runs fast as though he They may have a good harvest. ]
(e) I have not so much time When the examination began. '

Solve: (a) The farmers grow good seeds so that they may have a good harvest.

(b) Unless you start writing at once you will fail to answer all questions.

(c) Hardly had he reached the college when the examination'began.

(d) He runs as though he were a mad man.

(e) [ have so much time that I can accompany you all. days

Choose the right word to complete each sentence:

(a) Erosion by the river Meghna has rendered/driven/caused many people homeless.

(b) All buildings should follow earthquake resistant building code as compulsory/ optional/ peculiarity.
(c) Mills and factories throw their refined/defective/waste products into rivers and canals.

(d) The design of Shaheed Minar expresses/denotes/upsets all our aspirations of nationalism.
(e) To solve the power crisis of Bangladesh, we should waste/exploit/ravage the other sources of energy.
Solve: (a) rendered (b) compulsery (c) waste (d) expresses (e) exploit

250 ml Na,C,0, @3 0.1 M 53¢l tedt Fe f #ifemne Na,C,0, awmes 22

(a)3.35¢ (b) 1.675 g (©)2.25¢ (d) 6.75 ¢
Solves(ay; W= SMY _ 0:1x(46-+24+64)x 250 _3355
1000 1000

Y WS Feee CH,,0, | 97 6 TS (FH6? [Ans: b]
(a) CHO (b) CH,O (c) C.H,0, (d) C,H,0,
IARIRGIRT T NS ALTS (G2 [Ans: D]

| | |
(a) —-C-0-C- (b) O=C-0-R () O=C-0-H (d)O0=C-0-C=0

| | |
fs eafs ('O SRehTE LN SiRmsitet Sare e [Ans: c]
(a) B-ray (b) Electron (c) Positron (d) None of these
S GTEIE YR SPIRE AT wa? [Ans: c]
(a) Diastase (b) Maltase (c) Zymase (d) None of these
(I ST ARIT (I TS el qa? [Ans: d]
(a) Rimer-Timan reaction(b) Friedelm_g‘)@ﬁﬁgj@@.c ¢ Libermann test (d) None of these

SE SIS 4 Gl (@ 17 AT GORT [A987 AU
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07. g TGt e #iffa owat = T2
(a) 36.08% (b) 58.59% (c) 5.68% (d) None of these
Solve:(a); %H,0 = 23 %100 = 36.08%

08.

09.

10.

Fls:

12.

5x18+63.5+32+64
S B e An a2 T | ¥ oo o (R K., K % 70 T 40.5 6 5.5

777 (s witz: R = 0.082L atm K 'mol™ |
(a) 179.60 K (b) 661.26 K (c) 330.63 K (d) None of these

Solve:(b); K, =k (RT)"" =40.5=5.5(0.082xT)" =T =661.26K
egfere Sfarera 36 SREMGH Ry aive o5 W 16, 17 9 18 e o1 @9e a9 =
T 99.76%, 0.037% '8 0.203% | e e o9 Fo?

(a) 16.004 (b) 16.000 (c) 15.999 (d) None of these
Shlvei(a); S 16x99.76 +17 )236037 +18%0.203 ~16.004

e Rptarea T fNese (el Q@sifE SIeTse todl FE? [Ans: a]

(a) HCOOH (b) CH,COOH (¢) (CH;CO),0 (d) CH,COCH,

A e adw S T & [Ans: c]

@) CH, -1 (b) C,H, —OH (¢).CH, -Cl (d) C,H;—CHO
oS 49 W3 3 57 [Ans: d]

(a) To increase the poisonous action of catalysts (b) To decrease the poisonous action of catalysts
(c) To increase the catalytic ability of catalysts (d) To decrease the catalytic ability of catalysts

(A AR I LY FCA? [Ans: b]

(a) In the orbit (b) In the nucleus (c) In the orbital (d) Outside of the nucleus
. o (el @in ZeRGs Ry wfow e

(a) Ar(18)—1s”2s*2p°3s*3p’ (b) K(19)—[Ar}4s'

(c) Fe(26)—[Ar)4p (d) Cu(29)—[Ar]3d'’4s’

Solve:(c), (d); Sif5e TG R Fe(26)=[ArPd®4s? ; Cu(29)-[Ar]3d'%4s'
2B FEgreE A R v 1L A 0.03mg o hewt ¢ | @ Alfce Sofftey vl $o?

(a) 30 ppb (b) 300 ppb (¢) 30 ppm (d) 300 ppm Solve:(c)
gl cotee @ IR T @ @i IJaFe 22 [Ans: b]
(a) H,C(CH,);CH, (b) Pb(C,H,), (c) C,H, (d) None of these

a5 7y H,80, fifi® 15em’ wiwera 0.3M KMnO, 534wt 25cm” wiwer™ H,0, ¢ wifie < |
@ gad H,0, 93 (Uend Tiat % 247 :

(a) 0.45 M (b)0.54M = (c) 0.045 (d) None of these
Solve:(a); 2KMnO, +3H,S0, + 5H,0, — K,S0, +2MnSO, +8H,0 + 50,

L 15x03x5=25xMx2: M=045

GG T @F HeAE 0.2L IR &= IW IR oA 27°C @R 5 1.0atm | TR Gl FOsTEl
71 AR @ |

(a) 48.9x10%! (b) 4.89x10”! (c) 4.98x10* (d) None of these

PV 0.2 _3 =3 21
T e, 1 T . ST e = 8.12 x 107 x N, = 4.89x10
Solve: (b); n=5 = 30x 082l W BdRNogcom T - ald X 3

LB gIEiE @y e @@ 18 ATTSLTH LT 77T ...
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19.% (S T RRIeR Wi a2 [Ans: ¢
(a) Ca,(PO,), (b) 2Ca,(PO,),CaCl, (c) Ca(H,PO,), (d) None of these
20. @36 CO, W97 &7 F©?
(a) 7.305x107%g (b) 5.31x10%g (c) 7.023x105¢g (d) 6.84x102¢
Solve: (a); m = -1 =7.305x10~23
N

Mathematics (MCQ)
21 @f e e w9 3 (3, 6) R e o i @R 37 R (3 TR 6 @9 | [Ans: a)

(a) 4x+3y-30=0 (b) 4x-3y-30=0 (c) 3x+4y-30=0 (d) None of these
22, (atbtc) (b+c—a)=3bc 2= sin A-93 Wi F(3:
1 1 NE)
a)—= b) — —_— d) None of these
( )2 (b) 5 (C) > (d)
Solve:(c); (b+c+a)b+c—a)=3bc = (b+c)—a’=3bc =b’+c>—a>=hc
2 2 41 2
:;>l)—+c—a=l :>cosA=—l— :>sinA=£
2be 2 2 2
25,  tan20 tanb=1 &3 FAKF T4
T 7 am 7 P :
2nm+— b +— —_——— d) None of these
(a) nn6 ()nn6 ((:)2 6 (d)
Solve:(d); tan26.tan@ =1 =220 - POl 3101 = tan@=t-L =0—nrs X
1-tan’@ _ N3 6

24, JxInxdx @3 F Fe?
2 2 2 2

(a) Eiln(x)_x_.m (b) xz'ln(x)*x—+c (c) x?]n(x)+x7+c (d) None of these

2 2
Solve:(d); [xInx dx =Inx fx'dx - I{ Inx fxdx} :iz-lnx_ [izgdx =%x3 [nx_%ﬂ;
25. I—X—_ O3 WA TS
oV 2ax — X2

(a) (b) n/2 (c) 2m (d) None of these

n  dx 2 dx 2 dx . gx-a|
Solve:(a); f! —_— = ID = f" — = [sm

| y2ax —x? \/az—(az—hx +x2) az—(x—a)’ L a I

=sin”!()-sin 1) =2-(-Z] =

2 2
%.  Lima =502 oq w2
Xyt 5
2l
2

(a) /2 (b) n/4 (c) 1 (d) None of these
Solve: (d), lim 1—sinx _ i —COSX [la Hospitals rule] =Iim:,-' smx :l

(/ x)” “’*_—2( X% 2 2

bdnlvoa com

W GIERT 0T QTR @ AFTCCTT ST 7R VY.
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Q , r
27. W y=tan"'> H?h 7, Y g s 2
6—5x dx
(a) 1 (b) - 1 (c) e (d) None of these
14+%? 1+ x> 6(1+x%)
_15+6x
Solve:(a); y =tan '
(a); y e
dy 1 6(6—5%)+5(5+6x) _ 61 o
ax [5+6x]2 ' (6-5x) (6-5x) +(5+6x) 1+%°
.+.
6—5x

29.

10kg S&C3 q2f5 ger= T8 T <1 Al B A Z0E | S @ e @ S el
60° e fergre 9z | AHEHE e (Gaes R T Fo?

(a) 10+/3kg (b) ﬁkg (0 Ekg (d) None of these
3 3
Solve:(b); ,W = .P
sin120 sin150
P:10§m150
sin120

10
— "~ koF "Ng

ﬁ gF ' W-10kg

12N¢ 8N T3 uft Al AN 951 J2AHE (Pl TG IFE A S B e f@es itz | Sl Siagla
Rifera e T Sitid A f@aife] AB FaRE FevE A0 A0E? (el wieg, AB=Sm.

(a) 2m (b) Im (¢c) 1.5m (d) None of these
Solve:(b); P.AC=QBC=Q(AB-AC) Al
s QAB 2
4, AC_———P+Q -SAB Y2 PO 08
TEE RWEEE 79 A D B
3
AD==—AB l I l
5 Q=8 P+Q P=I2

3 2) 1 1
Afga 7@t =| =—— |JAB =—AB=—x5=Im
5 DJ 3 5

12,8, 5, 5y2a® 242 @ A et ABCD efewugs 2 AB, BC, CD @3 DATR @< 416
=4 AC e BD <= fais | ABCD<(crtas afofs aiga ) 5 @ 20 et afd 203- Solve:(b)
(a) 80 units (b) 40 u%w bdniyog com(c) 50 units (d) None of these

LB Gaelis a% GulrE 20 AFTSCTT I [VIST AL...
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8]
2

(09
8]

L

TR fouq usfB e (e e ?%sec A9 AT TSR % NS (o | T = @ 327 m

TR FSITo! T
(a)45.5m (b) 54.5m (c) 50.0 m {d) None of these
Solve: (b); 4%, o= *Swel =h  “orwg 79y =t

23 TS

L7]

o B W e . s gg o [2h b7
327 327 Vg 327 2
72
RSy X 2l o M mype e
327 g 2

%kgw B 6 4m 7T 7 [T TR e e 1280m/s sifemsl 5 = e me e ne
T TS R W 67

(a) 2560N (b) 25600N (c) 256N (d) None of these
_ 12802

2x4
GTEH ALFS AP 6 ZAB oiea A4 GFb 771, 7 79S CPhews = o= =5 TETE 0
6B “Isia! G FCa FAMB ALT© a1 TACS A2

Solve: (b); V2 =V} +2as ; a =204800 ms™* ; F = ma =25600N

(a) 50 (b) 40 (c) 70 (d) None of these
(@) & 252 -
Solve: (d); smisgeens (b) 1 1 3
(©) 203
51 51 51
(a)erwe am=———=30  (b) Feww® W=— =20 (c) e AATI=—"—— =10
2!2! : 3! pALER)

S @B =30+20+10=60

2x* + 6X + 5= 0 TG o1 APl ke o |
(a) Complex & unequal (b).Complex & equal (c) Real & unequal (d) None of these

Solve:(a); D=b” —4ac =36—40=—4
3+x 4 2
X 99 (1 NG G A s s e | 4 2+x 3
2 3  4+x
(a) =9, +4/3 (b) =9, /3 (©) 9,43 (d) None of these
S ExT 4 2 L% =4 2
solvei@a); 4 2+x 3 i=0=9+x 24%. 430 1=0 [(:'l=t:3+c:2 +c_;]

2 3 4+x b+x 3 4+x
1 - 2
:>(9+x0 kel :O[r‘zzrz—r,,r'3:r3-1',]
0 -1 x+2
:>(9+x*{_2 = :(9+x)(x2—3)=0 —=x=-9, +3
= +2 www.bdniyog.com

S SIElT OE el @ 21 ANFTEIwT QOTT 9T AU
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36.  "Immediate" %9 SEALE F© AR AGE @TS AN I W4T AT 't G2 (T 'a’ A2

(a) 45360 (b) 630 (c) 1260 (d) None of thes

1
Solve:(b); L =630
21212t
37.% forea s fack + l - : F e [Ans: c]
Ix2 3%& 5%6

(a) e’ (b)2In2 (c)In2 (d) None of thes:
38, (0,-1) @ (2, 3) frqac ATl @RI AP 4 T 98B X - o (AE @ AR W B o 2@

(a) 4 (b) 2 (c)3 (d) None of thes:

Solve:(a); x(x —2)+(y+1)Ny=3)=0 = x> +y>—2x -2y -3=0 .. 4w e =2/g? —¢ =
39, ¢-&F (P G Gy = cx(1+ X) TFEIE FARLS O =S x - ST A 30° @ VLo Fwa?

(@) V3 (b) 71—3" (c) :f% (d) None of these
Solve: (b); y =cx? +c¢x ; j—i/ =2cx +¢ RS, j—i —@3tan30° ..c —:/-1-_?:-
40.  5x* +4y° =1 Boe e T 62
(a) y= tg (b) y= ig E)ix= J_rlg-_sh (d) None of these
22 y2 _\E
2

Solve:(a); 5x% +4y% =1 :>—2+[—1—J=1 frerE TP, Y=i% =+

5 2

Physics (MCQ)
41* 75 3= 3| P QUi gfc 930 (mowE df oS e oepifes wwars 16 : 11 P @3 s

1600K == Q &3 17 w[l ¥ ZA7?

(a) 800 K (b) 3200 K (c)400 K (d) None of these
E_ T 1600
Solve:(a); - =—1 —=T,=——"=800K
e L T

42, AR RS 327°C @R AT 2feea A wivl 5.86cal/ gm. 22 4gm — mol A ofEmee agR AAfe|
TS FA? FPTR AR gom: 207.

(a) 8.1 cal/K (b) 1.38 cal/K (c) 14.8 cal/K (d) None of these
Solve:(a); ds QS0 =8.1cal/k
i 600
43. 76 7 P @@ =S 2w @7t &fs enas 10 © A6 R 7w | aviw @b T 280 Hz &,
S WG FIE F© J0A?
(a) 290 Hz (b) 270 Hz (c) both (A) & (B) (d) None of these

Solve:(c); £ =280+10=270 or 290

e e —— R A g -
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14 * @35 AZEN e Tge 1w I 120 Hz | oz 795 2re MReao 15m/sec @0 s (&S 99,

.
tn

47.

48.

40,

50.

BfY (¥ *I% ST O TS PO? A *0 (@9 320m/sec |

(a) 104.9 Hz (b) 95.9 Hz (c) 114.6 Hz (d) 113.0 Hz
Solve:(c); f' :i x120=114.6Hz
320+ 15
G @R T I oW, (A% 8 FE] R (ST SR | G ([T WH e [Ans: ¢]
(a) 470 (b) 47000 (c) 470009 (d) None of these

3B CITEn SR BT <@ 2V @R e @4 20 | @3 @rvEy 10Q @ed O wEl I% w9 @ s
2R T2

(a) 0.167 amp (b) 24 amp (c) 0.25 amp (d) None of these
Solve:(a); 1= E = 2 =0.167 amp
R+r 2+10
oM Site B (OIS CFa (@ T T I LT - [Ans: b]
(a) 5% (torque) (b) TG 7@ (Lorentz force) (c) ©2+ (dyne) (d) None of these

a@f o @@ 30cm TR 43I @RS qHl SR | AR Bofa GiRifen @SS 3 e i fw cvite 2
(SIS TS (FIFRT ROGA o4 JIR FACS Z0A?
(a) —22.5 cm (b) 11.25 em (c) 5.63 cm (d) None of these

Solve: (b); &t=Ts, i =3
1 e 3 LRkl : L
x=15 .u=15m ; v=45cm ..—=—+—=0:089 . f=11.25
s AS
3T T ferea eifovies 2 7w Wa e fpife v ee
(a) 30° (b) 45° (c) 60° (d) None of these
. A+3d 60+
sin son :
Solve: (a); p:-——% = 2=—-f% =9, =307
Si=— S].I'l?
QT g@ 20cm 93 ST IR A (TS AR, S T AT (O Tl
(a) -2D (b) +2D (c) +4D (d) =5D
Solve: (d); f =—s=-0.2m .'.p=%=—SD
Al g e @G 91T Al [Ans: d]
(a) 3fom =gl (b) I=AR =7 (c) R S=gl (d) None of these

@< SRS « STEEel Y AL TR | €7 e @E 0.75SmA @) A @491 0.05mA | #==
f4ade 99F (77 9 |

(a) 0.93 (b) 14 (c) 1.71 (d) None of these
Solve: (a); o = Ic = V2SS =0.93
Te 0.75
T 10kg o @3B 78 Tjefieet =T wifime 2u v Bt e A w2
(a) 9%x10"] (b) 9x10'°] (c) 9%x10"] (d) 9x10™J

Solve: (¢)s E = mc? =10x(3x10%f =9x10"7

SEW GIITEAT AT QU (I

‘?ﬁ.@ewiﬂ?&' SEICH Inded A9beT]...
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54.

Ln
A

56.

ST

58.

60.

61.

62.

SOkg s @ W& 1950kg Staw @36 N femirgt ew @@w 10sec Fwgme 54 | S99 10min
TTHCAC! DI A9 @ ot Isec 97 Tuay oMf% A1 | I@t o9F dsec 7 oMfeq @1 8m/sec et oiife
G e i v ek o |

(a) 12100m (b) 12210m ; (¢) 12310m (d) 12110m

Solve: (d); v=u+at ..a =§:.’2ms"2 10 sec 79 @7 =at = 20ms ™!

2w 10 sec @ 77 :%atz —~100m

A9 10 min @ 799 vt =20x10x 60 =12000m

o 1 sec @ g =[E+—‘i)t=[0;20}1=10m “. G5 7Y =100+12000+10 = 12110

2

]

25N 77 (*F PR (Got 10cm 3% 9% | Fisce 8em emifs et v w1 ooy a2
(a) 0.87 (b) 0.8 Nm (¢) both (a) & (b) (d) None of these

F 25 £y | el 2
Solve:(c); K:—:T=250Nm : W:;Kx =5>< 250%.08" =0.8] =0.8Nm
30 2

IS e 6.4%10°m IR Sfede gt 9.8ms™ | «3f6 TR e () el 9 |
(a) 7.92 km/sec (b) 11.2 km/sec (c) 9.0 km/sec (d) 15.0 km/sec

Solve:(b); v=4,/2gR =11.2 Km/sec
1.5><10"gmmaﬁ%ﬁmﬁhmwwmmam%Wmﬁmm@q
1.2m/sec’ @ar ST 3.0x108 N/m? 2w s aypnd wvs?

(@) 4.33x107°m (b) 4.19x107°m (c) 3.7x10%m (d) None of these
Solve:(b); F=m(g+a)=1.5x10° x11.F=m(g +a)

3
M= A=l IO XUl ot

A 3%10"

SR FAS @l TN e [Ans: a] _
(a) MET20™ (b) MLT?0™ (c) MI?T (d) None of these
AT AfFAr G GRE sifaes - [Ans: b]

(a) % (b) arte (c) =7 (d) None of these
a6 T Fem SO0K e wiet et zre 12507 191 ezt 907 @ % AREE 700] O TS FE | O
RIS S1orat foefa = | [Ans: b]

(a) 450 K (b) 280 K (c)OK (d) None of these
Solve:(b); & = i = 1) = 200 T, =280K

Q. T, 700 T

Englis

Choose the correct form of the verb in parenthesis of the following sentence: [Ans: ¢]
Had they arrived at the sale early, they (find) a better solution.

(a) will find (b) found (c) would have found (d) would found
Choose the “appropriate preposition” to fill in the blank of the following sentence:

“He drove —— a speed of 60 mile per hour.” [Ans: d]

(a) with (b) off (c) by (d) at

EH GTIEE 4B ol @ T Og-eor AT T 75 5.
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63.  Select the “Compound Sentence” from the following sentences: [Ans: a]
(a) Work hard and you will succeed in life.
(b) By taking fruits and vegetables, you will get vitamins.
(¢) The sun having set we returned home.
(d) Because of raining, we could not go to school.
Read the following passage carefully and Answer Questions 64 and 65:
In 1920, after some thirty-nine years of problems with disease, high costs. and politics.
Panama Canal was officially opened, finally linking the Atlantic and Pacific Oceans by allowin
ships to pass through the fifty-mile canal zone instead of traveling some seven thousand miles
around Cape Horn. It takes a ship approximately eight hours to complete the trip through the
canal and costs an average of fifteen thousand dollars, one tenth of what is would cost an average
ship to round the Horn. More than fifteen thousand ships pass through its locks each year.
The French initiated the project but sold their rights to the United States, Which actually began
the construction of the project. The latter will control it until the end of the twentieth century
when Panama takes over its duties.
64. Itcan be inferred from the passage that
(a) the canal is a costly project which should be reevaluated [Ans: b]
(b) despite all the problems involved, the project is beneficial
(c) many captains prefer to sail around Cape Horn because it is less expensive
(d) problems have made it necessary for three governments to control the canal over the years
All of the following are true EXCEPT
(a) it costs so much to pass through the locks because very few ships use them [Ans: a]
(b) the United States received the rights to the canal from the French
(¢) a ship can pass through the canal in only eight hours
(d) passing through the canal saves thousands of miles of travel time around Cape Hom
%6.  Select the correct “Indirect Speech” of the following “Direct Speech”. [Ans: b]
[ said to him, “Let them do whatever they like.”
(a) I told him that they should do whatever they like
(b) I proposed to him that they might do whatever they liked.
(c) I'told him that they might do whatever they liked.
(d) I wished him that they would do whatever they like.

[«
Ln

*. Choose the correct “Passive Voice” of the following “Active Voice™? [Ans: a]
“Please don’t smoke.”
(a) You are requested not to smoke (b) You are not allowed to smoke
(c) Smoke is not permitted (d) He is requested not to smoke
% Choose the phrase that best completes the following sentence: [Ans: d]
“He passed the examination hard labor”
(a) By the book (b) Carry out (c) By hook or by crook (d) By dint of
*+ Choose the ‘Antonym’ of the word “fiddle”: [Ans: b]
(a) Hoax (b) Integrity (c) Fraud (d) Con
~ Which of the following sentences most closely resembles to:
“Paris is one of the costliest cities in the world.” [Ans: ¢]

(a) Paris is not as costly as most other cities in the world.
(b) Paris is costlier than any other city in the world
(¢) Paris is costlier than most other cities in the world

(d) No other city in the world is as coshywsdtiyog.com
S SRR 9T g @ 25 FeE T 2T fA7aT Y.
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[N.B: * oz cnedt epetet sfares FiteaieTe]

Mathematics (MCQ)

01. ABC@’W %tq a* + b* + ¢* = 2¢?(a® + b?) T cosC 99 T (-
(@) 5 (b) £ () +2 (d) None of them
Solve: (b); a* + b* + c* = 2c?(a? + b?)
= (a2)? + (b2)? + (—c?)? + 2a2(—c?) + 2b%(—c?) + 2a’b? = 2a%b?

= (@2 +b%2—-c?)2=2a%p2 222 +b%?—c?=+V2ab> CE L G i% cosC = iﬁ
02. 2 &% PR TR T cosAsin (a — ) @7 T JRSH A7
(a3 (b) 5 (c) (d) None of them
T et - 21 ) NI G E_'E—i‘ L
Solve:(b); sin (A - E) cosA = ;{ZCOSASID (A - g)} = «-{sm (2A — ) sin (6)} = 5sin (ZA s) %
For maximum value, sin(ZA —%) — 1 @24 —E =Z.2a=" A0
03. 3™ sina + sinp = a ¥33 cosa + cosP = b T, O cos(a— [3) MWT?
24p2 = SR 2-he
(a)a+2+2 (b)a+b 2 (C)aztz) 2 (d)a 24—2
Solve: (b); sina + sinf = a - sin? a + sin? B + 2sinasinf = a? ... ... ... ... (i)

cosat + cosP = b = cos?a + cos?B + 2cosacosf = b?...\.. ... ... (ii)
(i) + (ii) = (sin? a + cos? B) + sin? B + cos? B +2(cosacosP + sinasinp = a* + b*

2

= 24 2cos(a —B) = a% + b? - . cos(o — B) & — G2
04, Lim(“m") 7 T 2

X—TT Sinx ;

(@) 0 (b) 1 (c) -1 (d) None of them

2.c08%2
Solve: (a); Lim == = Lim————2¢ = Lim cot = cot = 0
x—T Sinx X—TT zsin—cos— X 2

05. TFrx=tan" /1 202 qRy = tan ~1 %0 o L @ A F?

(a) -1 (c) +1 (d)o

1—cosf 2sin®z> 4 0y _ @
Solve: (a); x = tan™ ’14-0059 stz = tan (tan-z-) =z
t _q cosB £ cos --sm = tan=1 cosg—sin—g— ¢ L l—tang Tt B 13
= —_— = = — tan ———— ==X
) M Tcose ik cosze+sm2—+.’25m2cos-[i % cosS+sin 1+tan= 4+ 2 4
- 2 2 z 2 2 2
LAy _

Tdx
06. [ 2x% e dx @3 W T A

(@) —=+1 (b) —= (0) —=+1 (d) None of them

Solve: (a); Let,x2 =z -~ 2xdx=dz ~ [2x%e—x?dx = [ze *dz=z[e7% - i(z) e ?dz}dz
dz

=—ze?— [(—eH)dz=—ze " —eF+c=—(z+1)e”*

(a2, — -z11 _ -1 2
o [CzeTidz = —[(z+ 1)e = (2e 71)*'1—— —=+1
Jo [ )els www.bdniySg.com

LHW GIMEAF 0T R (A4 1 TG QT [FTFT AT ..




BDNiyog.Com-22
CUET Admission Test 2014-2015 Question & Solve

07. g8 y? = 4x @Ry = x I A G (AR CHAT (T 37
(a) %sq. unit (b) gsq. unit (c) ESQ- unit (d) %sq. unit

Solve: (c); yi’;

2 = y*=4x

e e S ) 4.4)
4 1 4 3 xz i

~ Area = f (2x2 —x)dx = [— K= ——]

:ixg_gzﬁ—S _—sq units

3

Shortcut: y? = 4ax 8y = mx %< 99, Areag 3,am = 0= Area—
08. FFawTRRFEIT@I2i—j+ki+2j— 31_usa=31+a]+51_uqi‘f“w%ﬁaa@ﬂw 2P |

(@) 0 (b) -4 (c)—6 (d) None of them
D= i
Solve: (b);[1 2 -3|=0-2(10+3a)+1(5+9)+1(a—6)=0~-7a=-28~a=—4
3y 5
09. x*—2x* —x+2 =0 FTAFFHF a T —2 < x < 0 AT TG F9C7 325 + 2a% + 1 GF T =
(a) -1 (b) O (c) 1 (d) None of them

Solve: (b); x* —2x2 —x+2=0~x% +x2—3x2 —3x+2x+2=0
“xA(x+1) - 3x(x+ D) +2x+1) =0~ x4+ 1D)E—-2)E=1) =0
~x=-=12,1 [Oruse calculator] - a = —1 [*$38] @RZ =2 < —1 < 0
230 +202 +1=3x (=13 +2(-1)2+1=0

10.  0,3,5,6,8 T WA (I WL ZFAE 71 FL@4000 97 (507 T FOSCEA AT o 1 IA?
(a) 144 (b) 192 (c) 168 (d) None of them
Solve: (c); 4000 939 (LT T 5 ’x‘ﬂm‘.ﬂ'ﬂ?@m (51~ 4!) 31 96 M= |
4000 93 (5T TG 4 HCHT AN 3 X py Al 72 AU |
~.4000 31 (5T I AT NI 1 A (96+72) 4t 168 T |

1. 3 (1 +x)(a - bx)!? 93 fgfers x8 O3 IR ¥ R OT - TS MW (< |
(a)z (b)2 (0)= (d) None of them
Solve: (c); (1 + x)(a — bx)*? Wz fAFfore x® W 7= = ?Cqa*b® — *2C,a5b’

12 51,7
< 12 _4y8 120 517 _ . _Cs_ab’ _a a_ 5
oS, H“Cqa’b Ca%h’ =0 aplt=Sm =g ad=z

12. (1,2) RS x — V3y + 4 = 0 @R BoR G375 o1y TefFe a1l 27 | oA o @ #1057 0g 57

(=2 (b) 222 () 222 (d) None of them

Solve: (b); x — V3y + 4 = 0 @A To7 717 @A AN, V3x+y+c=0
a1 (1,2) g e @ R € = —(vV3 + 2) A 89w, V3x +y — (2 +3) = 0

= _ WBo+0-(2+V3)] _ f

0o T, p +,,W 2+

13. x +y2 hb(Sx—12y)§t@W{ﬁrWWWWW AR e Tt fMefa w1
(@) 12x—5y =0 (b) 5x — 12y =0 () 12x+ 5y =0 (d) None of them

Solve: (b); x? + y? — 5bx + 12by= 0 CE!S"E(E —6b)
- RIS e TR, y = sb X «5y+12x=0
WWW?J{W@%WI - tg AT, 5x — 12y = 0

ALMANL hrlniyng com

L qarehie 9T qehieE @R 2 FETCLAT ST [ATET 5.
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14,

19,

16.

117

18.

9

10m/sec (@07 TUGTR G5 (@7 0O G/ AN @0 G T 49 & 105 *z TE TS
T | #{TETD G (A ST T (A Gwol T 2717

(a) 375m. (b) 380m. (c) 390m. d) None of them

Solve: (c); h = ut +>gt? = (—10 X 10 +=X 9.8 % 102)m =390m

T (@A feg b off ffrwad R (@ 50 o1& 7 9R 75 5 =3 FEE 3 v= ==
el wieey w0 | efem s ifs ¢ fFrFad e @5 <41

(a) 97.98 fps, 45° (b) 97.98fps, 30° (c) 9.798fps, 45° (d) 9.798fps, 60°
Solve: (a); R _ 50 yards = 150Ft « R = 300Ft = 300 = 2% . 150 X g = u”sinace
75:m . 150X g'=02SInF 0 s one-i()

() = (i) > tana = 1 » o= 459 = 150 X 32 = u? X = X = U = 97.98 fps

TR
e T SGITSSITE 3km /hr (30t AR @05 177 bt &< @AW 1 A 20 =1 57 7%

20T TS TS AN LG 22 T @Ced siforae Skm/hr 28, Tt g fo fRods o == ==
A T I (M=Id?
(a) 3.54 sec, 295m (b) 3.54 min, 295m (c) 3.54 sec, 2.95m (d) None of them

Solve: (b); tmin = 5 = gy = 212.4s = 3.54min

——ms~?!
G EI09F (@01 S 0 e e oy Siow S |

X = ut - X—(S:m x 212°4) m = 295m
4kg—caamﬂ%a@150ﬁﬁaﬁmcwﬁmwf—dzﬁﬁﬁﬁmw%w1mﬁf€?
SR 7T 519 Z3-

(a) 2979.2N (b) 2879.2N (c) 2880.2N (d) None of them
150

Solve: (a )-R—mg(1+“)—4x98x(1+—»)N=29792N
1.2,8,5,5v2 €92 22 93 NICE Ieafer ABCD I#fcsrcas 3@y AB, BC, CD 4R DA TR qIg €I Fo =9
AC @92 BD 34137 faraiae | ABCD frwam el aiea () 5 13 20 Ieafeld wife 20

(a) 30 units (b) 50 units (c) 40 units (d) None of them
Solve: (d); AB 39194 9T GTeTI< S e, Py =1 -8+ 5V2 x—= + 2\/‘(———) Dt C
= —4 OFF = 4 95, BA 9<4 5\\

R, AD e Soiest ew iR, Fy e e +2\/§>< =4 47T A

A B

F= fF2+F2:4\/§Lﬂw

i TSN 24m WY G G o3 @& 5 ton | GTef o 43 &ite w3t A Sow SeiEe ) 7%
emﬂamfﬁ?ﬁr@fm-ﬁw msm’zrzfs S 22 I Ol T Wi, ©cd A 725e
SAfFe (99 4|

uj U)

wl

(a) 4.5 ton-wt, 3.5 ton-wt (b) 5.5 ton-wt, 3.5 ton-wt
(c) 4.5 ton wt, 5.5 ton-wt (d) None of them
Solve: (a); 4 12m 12m AR
A 16m 8m B
s l J'3ton-wt
ton-wt

A RV T @I AT, 24 X Ry = 5 X 12+ 3 X 16 = R, = 4.5ton — wt
B fma s e e, 24><R1—5x12+3><8 R; = 3.5ton — wt

s bl
VYWA-DGH ||yUU .CUITIT

LT GIEiiE @B aufir (e 3 ~SeEr T e
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L TESE E 101101), 99 AN THeN @1 IR @ FH0E @ 16 79 Retey 21?

2

22.

23.

24.

25,

26.

a) (191), (b) (11), (c) (0011), (d)Bothb & ¢
Solwe: (B); (101101), =1 x 25 +0x2* +1x2° +1x224+0x21+1x 20 =45

—

£5 £= =50F 16 79 Aoy TRAT 481 . (@ TS A = 48 — 45 = (3),, = (11),

Physics (MCQ)

@5 2N Feors TSl @ 4T I 10m 8 4m1 G A 20 RS Foilbea s =7 e
AT | AT 7 o ==l [T 39

(a) 5.1 Hp (b) 51.28 Hp (c) 6.87 Hp (d) None of them

Solve: (c); m = =md?l X p;  t = 20min = (20 X 60)s

mgh §x3.1416x42x10><103x9.8x5

OIS0
2 2 %7 t 20X60%746

Hp = 6.87 Hp

27°C ©roia 1 kW Felq 99 e @etere 2 &6 218 wne | @b 10 M Ge o 325

o 5l 29 | A BT #AI0eE ©1% ZTa =14 160 J/sec T, B 10 6 wofem ot wo za?
(a) 87°C (b) 77°C (c) 67°C (d) 27°C

Solve: (a); 9T, T ¥l p’ = (103 — 160)Js~! = 840)s™*

~p't=ms(6,—0,) =0, = %+ 8, =0, = (%1;’;“ + 27)0 C -8, = 87°C

TG I G2 T @ 0.25m Sor (@8N qad 98 8 (708 2 1 0.50m Wid SkiFs 38 Y
R O] SIS T A (75 A2/ F00 A7

(a) —2D (b) —0.5D (c) +0.5D (d) +2D
s fayep = e = @ T o NI s sl = e sl
Solve: (a); P = rs =T +7 = (= q_zs)m =—2m!=-2D|u=0.50mx=—0.25m

B 0 30° (@I A© GH6 3346 ©F AB 97 FCA1 {79 A (AeE 3fo 78 Jerereicd «ifetd 10sec #ft
B s =i | gfi 20e A 13 Bwef w97

(a) 212.25m (b) 122.5m (c) 368.48m S (d) None of them
Solve: (b); q?& ®
X = ~gsinBt? = % X 9.8 X $in30° X 10%m = 245m h
+#2=5in30° =1 h=(245x1)m=1225m A
X 2 2

G35 T 2{ftad SIS 480m° U SrEN@l 293K | Sl 298K TR® 2(E AH *oddl FO O (F9
20 AMA? (519 RO =tR)

(@) 1.71% (b) 48.71% (c) 20.17% (d) None of them

Solve: (a); V, = 2 x V; = (52 x 480) m® = 488.1911m* = AV =V, — V; = 8.1911m?

293
81911

<. (@39 283 MR <ol A = ~ao X 100% = 1.71%
50kg St59 @< AIfE 5sec @ &N B @@ 20 €of Toira Toet) oS «iteiw THwr 10cm | TG Fo
(a) 1.9 x 10*watt (b) 490 watt (c) 196 watt (d) None of them

20X10

h  50x9.8%
Solve: (c); p = % = D*MW = 196watt

b |
www bdnivoag.com
7 ~J

L5 aIelie @B qufieE e 4 AGTOTTT T [T UST]...
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2%

28.

29.

30.*

3.

32.

33.

34.*

2.7 x 10* amp/m R QS0 GIEFF @ 0.2 x 10™4m? CFasEd a6 @TEF wes 5.3 X 1075Wh
FIF O T | (B1F St e 41

(a) 2.65Wb/m? (b) 1.96 X 10~°Wb/m? (c) 1.43 Wb/m? (d) None of them

Solve: (d); B, =3JS GIFFCHG = pyH; B, = W2 Glgarsa = -

5.3 % 1675
0.2x10~*
N FERCS GF EIICC ©fSe 217 0.1A (@i 0.5A ¢ #faafSs zear @ Feaits 10V sfussms «Ife
<2 27 | FYAR T SCHTF I-

(a) 3.25H (b) 20H (c) 15H (d) 10H

Solve: (a); € = L% =10=1LX (“5101) ~L=25H

@355 G 50km/hr (02 5o SIAFR @F 6 60cm/sec? T9H (B T4 26 | GHI6 P v Fe Arw<?

(a) 160.55m (b) 150.55m (c) 277.89m (d) 158m

Solve: (a); V = 22Km V. O3B0 16065m

=1388ms tax===
2f 2%0.60

ﬂﬁwﬁ%ﬁﬁmmm%mm|Wmeos1 ohm | 3z i1y #ifafg 10 A 7w

e Slace TTSred @4 AR 37 62 75 A e 203 93 T 23-

(@) 0.090 (b) 0.030 (c) 0.30 (d) 0.9

Solve: (a);n===10 ~r =R =028 9 = 0,090

=1 10-1

2 O [@ET 7 fowg ey 2=ifEe St 97 19 T3-

-

(a) 0 amp b) 2 amp c) 3amp (d) 4 amp

Solve: (a); Short mrcun T TGO f*rﬁ:—i ST (AT A% IO YAGgE ANT el
(AR AT TR {4 20 GEieds T47 0d (I 297% 54163 =11

Gl 2fE vifffe (e @t 14km/hr) T3 &% 12.125km X Tai09 Srerfe #ife e $© 771
=Neta? (A9 (9 7km/hr |

(@) 1.25 hr (b) 1 hr (c) 5 hr (d) None of them

Solve: (b); u

T
w = VvZ—u? = V142 = 72+ = 12.125km/hr ;V .
i i __ 12125km = v u

w  12.125km/hr

G5 500m3 TS CEH ST i@l 37°C | G FR IR T G JIOT SI7Ral S
22°C zeT | it a0 AYGIP FN A, O <S4 ' Sl ST T Ne4y S/ 203 q10a?
(a) 4.84% (b) 2.42% (c) 24.2% (d) None of them

B=B; +B; =il +% = (4T[ x1077 x 2.7 x 10* + )annr2 = 2.68Wbm™?

- e 273+22 e LAn | == =311
Solve: (a); V, = *“' >< V, = (273:3*? pad 5u9) mS = 47581m> <AV = Vi — Vo — 24.1935m°
241935
. (OO0 9] e IEFIEI el A = —— x 100% = 4.84%

1050 Hz =7 741 faffz aﬁw%&w oI 7Pt 2t 20 m/sec 7ifte U “=RTes Mis 5z
5T * T TO TN FAT O wHea? (*1twd &5 =330 m/sec)
(a) 970 Hz (b) 990 Hz (c) 1115 Hz (d) None of them
Solve: (b); ATH@ T (<17 RS 70 10 TR |

330

(G 20O SIS *73E ST TE, B = (1050 x )Hz = 990Hz

LG GFEHS 9T AEfTF (@9

WWW.UU YO(.COITI ~ o~
By J HWEaEIaT ST fadasd ...
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35.

36.

38.

39.

40.

41.

23m Tf =6 7EIES TW @IS G0 99 A Wond e Nowet w4 &1 W0 il @ @I o
(ATF 3m TRre TEL 4E T | G99 Y0 Feva Afetast f&Em 40 m/sec) Rrwe FaE TS @b
otz & fea?

(a) 33.9 m/sec (b) 34.8 m/sec (c) 40.7 m/sec (d) None of them

Solve: (b); v¥ = u® + 2gh; h=(23 -3)m = 20m

~u=,v?—2gh=+v40%2 -2 X 9.8 X 20ms~! = 34.8ms™?

455 =T 3fE 500K SIIER ©IF BT (T 300 cal ¥ &17d e @2 ©f &let 225 cal B9 T8
SE | O RS OIrE] 997

(a) 666.67 K (b) 135 K (c) 300 K (d) 375 K

Solve: (d): Q2 =21, = (Zx 500) K = 375K

ssmﬁwa\%q‘qﬁ o ~fare ofS | AifFa afSs=arE 1.33 T TaF (At 2 Fha sam a5©
I (AT FORF ST (AT A?

(a)4.135m (b) 1.36 m () 7.32m (d) None of them

Solve: (b); ax = d x (1-2) = 5.5 x (1 - =) m = 1.36m

e g9 wow sAeeE vt I%9 oo A A | G 211 3 BEw g6 AfexfE e &7, oird
@ﬁﬁﬁmﬂ?@ﬁ%%?‘

(a) 1:2 b) v2:1 (c) 1:v2 (d) 2:1

Solve: (c); 2 X I x W7 _—><21><w2 “ ot =?t—:~%_:§f=% Ly:L, = 1:v2

4fb B11 I 2R1fes St waera FRFR y = 105in (= — =), @M x '8 y @F 9T GHHGE

G2 t 9T 9P OIS | TI(64 oifS F6?
(a) 500 cm/sec (b) 50 m/sec (c) 10 m/sec (d) 400 cm/sec

Solve: (b); y = 10 sin = 10sin— (=t — x) = IOSm—(SOOOL —x)
v =5000cm/s = 50m/s

D2 )

0.02 100 100 \0.02
436 o7 PeSeE foqb S5 IE m, = 1kg, m, = 2kg 932 m; = 3kg GG FN4E fape (26l
AL G 1m) @37 o716 wfiea afkfEe | 337 Saem fAda w1

@Y er (53 0GR or (53 0 (ZEHor G2 @& 3)
Solve: (a) ; Fig: | 2(© 13, y S ALATF TS e, (1+2+3)x_2><1+3><—
X S SCATE T R, (142 +3)7 =32y =23

6x2 4
Fig: ii 0 °1%, x S AL SINS e, (1+2+3)x— 3.5

(22

100

R (Eéfi?) 0

Chemistry (MCQ)

20°C =1 91a1¥ 98.66 kPa BT 0.842 kg Gf6 i3 0.4m? Ses w2e S e 9aifis o9 99
(a) 510.7 (b) 51.97 (c) 61.97 (d) 5.107

oy B . n — MRT _ 0.842x10%xB.314x293 —3 - -1.
Solve: (b);PV = ZRT ~ M = R mol™* = 51.97g mol~! ... 999 ©q = 51.97

Lar conefie O g @ www.bgniyog.com G ST TG L.
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L

i

TSI 96% ST ST SR | 7Y AXGIFIRE GfTe 150 gm BA=Ied Taige Fie o= S<g=
3 b €O, e AMT?
(a) 32.256 L (b) 3.2256 L (c) 322.56 L (d) 0.3226 L
Solve: (a); 150gm a9 96% = 144gm
224

CaC0; — Ca0+CO, B2 CO, @7 wrew = 22252 |, = 32.256L
100g 22.4L i

qFT 2T GBIET A WY [eEeE @ @399 6.21 X 1073dm®mol " sec™ | G™51F G32 FF COEE
9@ 0.05 mol. dm ™3 et RfeFaoa 90% Ty FAre F© TN #15(37?

(a) 2.89 % 10*s (b) 28.98 x 10*s (c) 2898 s (d) None of them
LAl ey [ 1 0.05%0.90 a 4
Solve: (a); t = k a(@a-x) [6.21»:10—3 o.oax(o.us—o.osxo.%] s 2 a0 X [Des

2500 ¢ 350C SINIEN Wss arEfe R g9 @9 W@ 225 X 1072 min™t @9 7.10 X
10~2min~! fEfEFaife wiea «fe $9? (R = 8.316)K *mol™?)

(a) 8771 J.mol™? (b) 87.71].mol™* (c) 87.71 KJ.mol™* (d) None of them
il K2\ _ Ea (T2-Ty Tlecl0EE\E I Eg 308-298\ | aL 3 =
Solve: (c); In (Kl) = a (T]Tz ) =In (2.25)(10“2) = 8314 (29Bx308) + Eq = 87.7 X 10°]mol

ST SRees o NH} @@ k, = 5.8 X 10710 (51 NH; 9 Ky @3 T4 97

(@) 5.8 x 10™°mol. L™ (b) 5.8 x 10~*mol.L™*  (¢) 1.72 X 10=5mol. L™ (d) 1.27 x 10~>mol. L™
Solve: (c); K, X Ky = Ky, = 5.8 X 10720 X Ky, = 10** = K= 172 X 1075 molL™?

500°C SINER TR@IREET (C,Hy) €7 Rurem g #uw @w Rfwan a R[ieww 9 &9
9.2 x 10~3s~1 | T& TR 1.0M BT 90% fReamer| &S F© 7 =t ?

(a) 100.82s (b) 200.53s (c) 250.33s (d) 300.25s
. S et ! e iy 1 1 A
Solve: (c)it=In—=ccrrs In (1_0.90) $=.250.33s

63.5 gm Cu FITaCe Hides zre % == e st i =32
(a) 96.500C (b) 1F (c) 2F (d) 3F
Solve: (c); Cu*+2e~ - Cu(s) .. 2AIEA o1& 2F

2mole 63.5g
N 5 oY AR SRR
(a) 64&129: 642“30 (b) i 34516 (c) 305i14: 31P15 (d) 1H1: 2Hl
Solve: (a); ©F AT A
02~ SaTE AT 140 Pm @2 Ti** SRR AIRA4 68 Pm Ti0, T FfRe el F97
(a) 6:3 (b) 6:6 (c) 8:4 (d) None of them
o

Solve: (a); +; = £ = 0480414 — 0.73 4 )

- Titt a7 SR A7 =6 -~ 02~ &7 AN 7AN =3 [Ti0,] - TiO, O3 AT 7L =6:3
e FrefEarTay O3 0y el SIZeeHe ?

235U 4DA[.

92 18

a) 1H1; ZH]_p 3H1 (b) 23?U92 (C) 40}{19 (d) 14C5, 15N7, 1608
238U92 4—0Ca20

Solve: (d); fTeGs 373! AN |
4= BI3EEE 25 ml, NaOH Bt e Face 16.5 ml, 0.125 M H,S0, @39 e 2= NaOH
FaroE 9@l Fo 97

(a) 0.0825 M (b) 0.1894 M
Solve: (Ans. (12); e;S1V; = €35,V W\lN 5 X S;

) 0.0125 M (d) 0.225 M
2 X 16.5 X 0.125 = s5; = 0.165M
om

(c
X 25 X s =
w.bdniyog ¢
sETEEE AT iR (@R T wETERT SERT [neag ...
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92,

N

o

N
L

09,

60.

Fad —
ﬁf:fi? %[ ST (ATE AlSE ©ad ([Z NS |
\) e [T I',<T-|"|'3 4—;?_:! 51 314+ Siq \‘-;w’_"‘gf-‘f?

ii) FT5e TG (NI 9T T+ g (A Solve: (a)
(a) Maleic acid; C; — C,» (b) Lactic acid; C13 — Cyg
(c) Butane; C,s — Cy5 (d) Dimethyal Ether; C;, to Cys

0.20 gm 752 EI9E S8 A0S [RTSRS F09 0.1167 gm BaS0, #INSHT (31 | FSIEd Xowat 2a

sy e

(a) 23.53% (b) 10.01% (c) 8.01% (d) None of them
iy : 32x0.1167 : __ (0016 iin o
ST5% SEEE (AT 9T O6d (@R e Solve: (c)

) TEeERS fE tefare 99Re W @RG?

i) SR (AF F SRR [EEs @miG?

\a) Methanol; Zn/HCI (b) Ether; Sn/HCI (c) Surbital; Pd/H, (d) Glycol; Zn-Hg/HCI
<1759 2EGTE (AT 9T BGF ([T TG | Solve: (b)
i) 39 (A SRS 99 ALTS?

ii)* FoE @At Soari e a2

(a) AiF,. 2NaF; C;HsCl  (b) AlFy.3NaF; CgHyClg (C) AlF5¢2NaF; CH,Cl, (d) AlFs.4NaF; CHCl,
Sitsa 2HatE (e AfST T @

i) CIBT Rt T (G2 Solve: (a)
i) fafSma sieenifeees wiegs s1ey @FB?

(a) SO;H; 81 (b) —NH,; 100 (€)-X; 74 (d) —CHz; None of them
N5 PISTE (AT AT ©Ba @R NS |

i) ZEET fetelte i i 2K ST (B ? Solve: (b)
i) eva c@orefere Ty @it wibe @e?

(a) R — CONH,; CH5COCI (b) R — NH,; Ag(NH;)Cl

(c) R — COCl; ca(ocl)Cl (d) R — COBr; (CH;C0),0

59 2petett (2 Sfoe T R e |

i) T 1S Sl &y (1 RRa IR INZ? i) 2liphos 71 FHess @i c@elfe Afmm?
Solve: (a)

(a) Tollen reagent; Isoprene (b) Grignard reagent; Isobutane

(c) Lucas reagent; Isopropane (d) Neslar reagent; Isopantane

058 2ESTE (A0 AT ©6d [@rE IS | (Chose the correct answers of the following questions.)

1) CTBI=T (STaR AR o9 T @I THere? ii) ferarzE A9 wr M @A e w9
qg7? Solve: (d)

(a) Extractive distillation; Nitrobenzene (b) Destructive distillation; Anelene

(c) Steam distillation; Toluene (d) Fractional distillation; Phenol

feoa emeta e 5 Sow Tz TS |

i) o9 1= @eifs 7 i) Seiers faoTa Aihem ara? Solve: (b)
ii) SIS 93 AREE FeEs @ HG?

OCONH; OCOCH;, 0COCl1 OCONH,

TR @,COOH A \’N\@/COOH @AJH @CC’CI
; | ; , il; ;
(a) Oxalic aci (b) yceUVJ : dnlyog.c(g%on' (d) Fat

Loy aElie as qefite @Ee 8 ATTCTT LT 78T A5
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Today perhaps your only association with the word ‘polio” is the Sabin Oral Vaccine ihat
protects children from the disease. Fifty years ago this was not so. The dreaged ¢ 7
mainly affects the brain and spinal cord, causing stiffening and weakening muscie, cripping and
paralysis- which is why | am in a wheelchair today. If somebody had predicated. when | was
born that this would happen to me, no one would have believed. | was seventh child in 2 famiy
of four pairs of brothers and sisters, with huge 23 years gap between the first ana last. | was so

n
(44]
sl

)
h
)

]

fair and brown haired that | looked like a foreigner. | was also considered to be the healthiest of
the brood.

61. Inthis passage, the narrator is a patient of: Solve: (d
(a) heart disease (b) paralysis (c) nervous weakness (d) polio

62. In this passage, the word ‘brood’ refers to: Solve: (b
(a) children in the family(b) polio victims (c) foreign children (d) Indian children

63. Choose the correct ‘Passive voice’ for the following ‘Active Voice’: ‘His conduct annoyed me.”
(a) I was annoyed at his conduct (b) I was annoyed by his conduct Solve: (a)
(c) He was annoyed me at his conduct (d) I am annoyed at his conduct

64. Choose the “Synonym™ of the word ‘August’: Solve: (c)
(a) common (b) ridiculous (c) dignified (d) petty

65. Choose the correct ‘Indirect Speech’ of the following ‘Direct Speech’: ‘Are you hungry,
friends?’ Said the shrewd king. Solve: (b)
(a) The shrewd king said addressing them as friends, if they were hungry.
(b) Addressing them as friends the shrewd king asked if they were hungry.
(c) Approaching them as friends the shrewd king said if they were hunary.
(d) Addressing them as friends the shréwd king said if they are hungry.

66. Choose the “Correct form of the verb” in parenthesis of the following sentence:
‘Ali would rather.............. (sleep)than worked last night.” Solve: (a)
(a) slept (b) have slept (c) have been slept (d) will sleep

67. Choose the ‘Complex Sentence’ of the following ‘Simple Sentence’:
‘| follow my father's example.’ Solve: (a)
(a) | follow the example which was set by my father.
(b) My father not only made an example but | followed it.
(c) My father asked me to follow this example.
(d) My father would rather that | follow his example.

68. Choose the ‘Appropriate Preposition’ to fill in the blank of the following sentence:
‘The driver stopped just .......... time to avoid an accident.’ Solve: (a)
(a)in (b) by (c) at (d) on

69. Identify the “Correct Translation™: “IfSIIad T918 TACS! U7 (5T Y4 ARG (& i 20o =
(a) Real flowers hardly could have smelt better. (b) Real flowers could hardly have smelt betier.
(c) Real flowers could have smelt better hardly. (d) Real flowers could smelt better hardly.
Solve: (b)

70. Choose the “most appropriate choice™ of the meaning of the underlined idiom in the following
sentence: ‘Professor Frank Banks is on the wrong side of seventy.’ Solve: (b)
(a) Less than seventy years old (b) More than seventy years old
(c) Seventy years old www.bdniyofedghty years old
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CUET ADMISSION TEST 2014-2015
[N.B: * o= creat ettt sftes PeeieTd 1]

Mathematics (MCQ)

ABC f&gtem c%@ a* 4 b* + ¢* = 2¢?(a? + b?) A cosC 93 T TI-

(a) = (b) + (©) +

Z 2
JTAYE: (b); a* + b* + ¢* = 2¢?(a? + b?)
= (a2)2 + (b2)? 4 (—c?)? + 2a%(—c?) + 2b*(—c?) + 2a%b? = 2a?b?

> (d) None of them

> (@ +b2 - c?)? =2a%b? za? + b2 —? = +2ab > T +b2b'c2 = i—lz— cosC = i‘%
a 7 P W S cossin (a - ) @ T J7G0 TA?
(a)3 (b) 3 (©F (d) None of them
- apl i SR | Y g =0 —sin(T)| 458 b
A:(b); sin (A )cosA = {ZcosAsm (A 6)} =>{sin (ZA 6) sin (6)] =>sin (ZA 6) "
For maximum value, sm(ZA = —) =1:24-"=1:24=2.="
6 6 2 3 3
I sina + sinB = a W32 cosa + cosB = b TF, OIXA cos(at — p) &3 T F6?
2,12 2, 412 <h2- -
(@) a?+b%42 (o) a +12: 2 (©) a? 12)2 2 (d) a? 12)2+2
Y (b); sina + sinf = a « sin? a + sin? B + 2sinasin = a% ... ... ... (i)
cosa + cosB = b .. cos?a + cos? + 2cosacosf = b ... ....... .u(ii)
(i) + (if) = (sin? & + cos? B) + sin? B + cos? B + 2(cosacosp + sinasinf = a? + b2
az+b2—2
=2+ 2cos(o — B) = a2 +b? = cos(a — B) =
. 1+cosx
Lim (*57) @n
(@0 (b) 1 (c) -1 (d) None of them
2X
AL (a); Li m—X = Lim zc:s x = Limcot™ = cot— =0
x—)'r[ sinx X-T ZSHi?GOS? XOT 2
W x = tan™? 1 =i s aRy = tan™! 1‘:’?29 T OIRET i mCERIDE
(@) -1 (d)o
SAIYIA: (a); x = tan™? /1 cosd E tan e)
1+cos8 2cos2= 2
y= tan-1 cosd tan-1 cosz——sm - _ cosg—smg _ql-tang T_6_m .
L+cos coszg—i-si-nzg—i-z-si-ng—eesg B cosg+smg B 1+tang T4 o2 4 '
J; 2x3 e dx 93 3w e 1)
(a)-2+1 (b) -2 (€ -2+1 (d) None of them

SAYE: (a); Let, x> =z = 2xdx =dz « [2x%e —x’dx = [ze?dz=1z[e* - f{fz- (z) [ e7%dz}dz
=-ze%— [(~e)dz=-ze?—eZ+c=—(z+1)e~

folze'zdz =—[@+De?[f=(2e -1 =1- é = —-f +1

48 y2 = 4x G y = x FRERT QI TG (G CRAT (39 T4

(a) -;-sq. unit (b) gsq. unit (c) gsq. unit (d) ESQ- unit
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FAIE: (c); y=x
Z=4x...... i); y=x.....(xi y=4x
7= e @ Y = K@) ‘e
4 1 4 3 X2
~ Area =I (2x2 —x)dx = [——xi——]
0 3 2] 0,0)
=§x8—126-=3—32-—8=§sq.units
Shortcut: y? = 4ax 8y = mx @<l SI9%, Area = g;—i, AW, a=1,m=1. Area =§
FIF a GF WA T T @ 21— + ki + 2 — 3k 4R 3i + aj + Sk @ oA (©F7 4T TS AT
(@0 (b)-4 (c)-6 (d) None of them
2 -1 1
AR (b); (1 2 —3|=0-2(1043a)+1(5+9) +1(a—6)=0-7a=-28.a=—4
3 a 5
X% — 2x% — x+ 2 = 0 TR @ T —2 < x < 0 Ty GG FA 3a® + 222 + 1 97 W -
(a) -1 (byo ()1 (d) None of them

FYE: (b); x> —2x2 —x+2=0-x3+x*-3x2 —3x+2x+2=0
ax2(x+1)-3x(x+1D)+2x+1) =0 (x+1)x-2)x-1)=0

+x=-1,2,1 [Or use calculator] - a = —1 [*I$ICS] ARG -2 < -1 < 0

233 +202+1=3x(-1)%+2(-1)*+1=0

0,3,5,6,8 ATl AT @I S SRS 7 F07 4000 O (T I FOSTE Nyt 19w I3 A2
(a) 144 (b) 192 (c) 168 (d) None of them
FA: (c); 4000 T (5TF I 5 W& 7 (5! — 41) A 96 TG |

4000 97 (5T IC 4 SEFI AN 3 X *p5 A 72 HF |

.4000 &9 (5T IT T 15w 1 AT (96+72) I 168 ALRIF |

T (1 +x)(a — bx)*2 9 RfoTe x° @ 7 [0 ZH A © Seiived AW & 9|

3 3

(a)2 (b)2 ©2
FTAYHA: (¢); (1 + x)(a — bx)!2 ¥7 {FFere x® @7 7=ot = 12C4a*b® — 12C,a%h7

12 SK7
& 12 41,8 _ 12 Sh7 — , _Cg _a" _a a_5
tf\qﬂc@ Cea = a - = —-=
s 8 b C7a b 0 12C7 % b b 8

(1,2) R 2o x — V3y + 4 = 0 QIR To17 @0 717 e 371 211 TR o @ 70e3 7g $07?

(@) 2= (b) 222 ()22

FTALI: (b); x — V3y + 4 = 0 @RI T4 7 @R AN, V3x+y+c=0

T (1,2) ’ev e R ¢ = — (V3 + 2) T w3, V3x +y — (2+V3) =0
TR 8 g, p = Ml 208
x? 4+ y? = b(5x — 12y) Ir8 WFe P R a1 sfeery Fea; TRvee ~rfefow sifiesd w41
(@) 12x—=5y =0 (b)5x—12y =0 (c)12x+5y=0 (d) None of them
TA: (b); %2 +y2 — Sbx + 12by = 0 ¥ (22, -6b)

- R i e, y = :glx % 5y+12x=0

@RGP e e Bom g1 - e e, 5x — 12y = 0

(d) None of them

(d) None of them

10m/sec @0 SO G @O T G A @R (R T G3R G 10 sec #F S e T stiafe

R (AT A1 AT (oLl Tool Fo foei?
(a) 375m. (b) 380m. (c) 390m. (d) None of them

STGA: (0); h = ut +gt? = (—10 Xx10+>x 98X 102)m = 390m
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15. 393 7 fifipe @l offt frmett R (e 50 ofw MTa ik 75 6 By oI 0% BoR e wnigfiiretis sfoey
3@ | oo farwort o ¢ freen e @
(a) 97.98 fps, 45° (b) 97.98fps, 30° (c) 9.798fps, 45° (d) 9.798fps, 60°
SAIE: (a); g = 50 yards = 150Ft - R = 300Ft = 300 = uisinza . 150 x g = u®sinacosa ... ... (i)
75 = % 150 x g = u®sin®a.... .. ... (ii)
(i) + (i) = tana = 1 = a = 45° = 150 X 32 = u? x% X % «u=97.98 fps
16. T A SSEITEIE 3km/hr @00t Aol @5 177 RO &IE @ISR TAT =l TS #HMTF | Tt =119 e T1oX
TS TARER A I? 77 @I *fetaat Skm/hr 2, Tt Rz 37 Reide 7 e %o M@ Be aifie ¢ eic?
(a) 3.54 sec, 295m (b) 3.54 min, 295m (c) 3.54 sec, 2.95m (d) None of them
T: (b); b = & = 57— = 21245 = 3.54min
3600
QTHE @ITod QU i TS Sgie s oy wfow 761
tx=utex= (220 4 212°4) m = 295m
17. 4 kg S99 38 150 foR Twe! (e <foe 2z am fows 2 bR 2! 303 757 2211 387 o FMi7 1o b1
Q-
(a) 2979.2N (b) 2879.2N (c) 2880.2N (d) None of them
TAA: (@); R =mg(1+2) =4x9.8x (1+ *Z)N = 2979.2N
18, 1,2,8,55V2 €43 2V2 433 M I7afe ABCD 3:10Taa 3@ AB, BC, CD @3 DA IR @3 S ¢ AC @3t
BD 1< féarae | ABCD efrwtae efefl e ondy 5 uar T Imefer wifeg 20a-
(a) 30 units (b) 50 units (c) 40 units (d) None of them
. (); AB FRR TPIGT SoIe TR, Fy = 1- 8.+ 5v2 x 5+ 22 (~ 3 b8 .
= —4 &% = 4 4%, BA I A% A
S, AD < SR BT AR, Fy = ~5 + 2+ SVIX -+ 2V2 X 5= 4 999 N
.'.F=\[F,%+F§=4\/fu‘lw 1
19.  ofiw TIea™ 24m W @ GTga 9B 5 ton | G O 1R &ITS VR AT Bo s=fge | 3 3 ton ST @3t
S YOI €F &l T[S 2/3 S AR VTR ©IF it WG, o <l 72fba B bieet sAfuret @ 3911
(a) 4.5 ton-wt, 3.5 ton-wt (b) 5.5 ton-wt, 3.5 ton-wt
(c) 4.5 ton-wt, 5.5 ton-wt (d) None of them
LW (a); RlT 12m 12m R
e T
A f3 ATors @ fAT, 24 x R, = 5x 12+ 3 X 16 = R, = 4.5ton — wt
B 7 Itor® @ fAtd, 24 x R; =5 x 12+ 3 X 8 « R, = 3.5ton — wt
20.* AAZAR AL (101101), 97 AT TGO (FIN AL (@ F0ET @I 16 a1t (o 2a?
(a) (101), (b) (11), (c) (0011), (d)Bothb & ¢
TWMLE: (b); (101101), =1x 25+ 0x 2% +1x 23 +1x22+0x 21 +1x2° =45
45 7 fRFBeT 16 T ey 72 481 .. Q@M F90® A = 48 — 45 = (3)5, = (11),
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— -
21, «3fb stifasid Foom *hStel ¢ AR FUET 10m 8 4m 1 @6 =it 20 ARG FoAfbTE A =7y w2t ) At @7
o we! R 3
(@) 5.1 Hp (b) 51.28 Hp (c) 6.87 Hp (d) None of them
AMYH: (C); m = %ndzl X p; t=20min = (20 x 60)s
b= o_+1 _ 1_0 =Smup= mgh —><3 1416:04::01::::3x9 8X5 Hp = 6.87 Hp
22. 27°C —mm 1 kW o aasﬁica@zﬁ @efirs 2 & A SR | @b 10 NG o 725 oW w4t 2@
W BIEPITR Bt TR 27 160 J/sec T, ©1d 10 fifaws Fefera wtomrat w7 273?
(a) 87°C (b) 77°C (c) 67°C (d) 27°C
AN (a); 9T, IR T p’ = (10° — 160)]s™1 = 840]s~*
plt=ms(8; —8) > 8, =21 40, = 8, = (M40 4 7). g, = 87°C
23. €T Wl TR TR @ 0.25m ST @ AR I8 2 (TS AR A 0.50m TiH SRIFS I8 PO (AR &
OITF T© TR (75 JRZR IS TA?
(a) ~2D (b) =0.5D (c) +0.5D (d) +2D
T (8); P = o = 1+ 5 = (35— 535)m™ = —2m™! = =2D | - u = 0.50m; x = ~0.25m
24, iR IH 30° @A WS G5 T4 T AB @ TS K A (3rF @b 9§ Proreid e 10sec * B Rqrs
ST | G TS A 93 Tt F97
(a) 212.25m (b) 122.5m (c)36848m (d) None of them
TA: (0); S
x=1 - gsinft? = %x 9.8 x sin30° x 102m = 245m h
;— sin30° =2+ h = (245 x 2)m = 122.8m A
25. b TG AGT ATSN 480m? €32 oGt 293K | Srorurat 298K THS e IRT *o4! F© A (I4 27 AQ? (51
TofRIeS SITE)
(@) 1.71% (b) 48.71% (c) 20.17% (d) None of them
AAA: (a); V, = I—: XV, = (Zﬁx 480)m =488.1911m® = AV =V, — V, = 8.1911m?
. G R8T I Tt oAfiwier = 2222 x 100% = 1.71%
26. 50kg S 4% JfE 5sec @ cmﬁﬁa @ 20 419 ToTg ©oFT )| 2f$ 4iesa Tt 10cm 1 @G T Fe! IER
97
(a) 1.9 x 10*watt (b) 490 watt (c) 196 watt (d) None of them
T (o) p = 22 = 2y, = 16w
27. 27 % 10% amp/m. SR GIH GIFF (T 0.2 X 107 m? CFAFEA 930 @R ATT 5.3 X 105Wh FIF By
| OTFF e e T
(a) 2.65Wb/m? (b) 1.96 x 10~°Wb/m?  (c) 1.43 Wb/m? (d) None of them
TR (d); By =TRT® GFTTD = poH; B, = S St = 2
B=B,+B,=H+ ¢ <4n x 1077 x 2.7 x 10* +i§f—19_—5) Wbm™2 = 2.68Wbm ™2
A 02x10-¢
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28.

29.

(@ PYATS T G OBR &% 0.1A (UTF 0.5A @ R 26T @ F&ATS 10V wfyeres e wfie
(a) 25H (b) 20H (c) 15H (d) 10H
T (a); € = LT = 10 = L X (%) : L= 25H

@35 @ 50km/hr (0T B! SR @G T 60cm/sec? TAF 1B 41 L1 @GNS o 77 I Amea?
(a) 160.55m (b) 150.55m (c) 277.89m (d) 158m

2 2
T: (@); V= 50 = 1388ms™ o x = = = L0
br 2f  2x060

m = 160.55m

30.* 6 SMfiGr feg 1 A oS 416 731 I 27 WeIBA @16F 0.81 ohm 1 377 45 ¥ 10 A s 3 e

31.

32.

33.

IR @I4F LT 2L AN A FeAr fAe T4 @7 T T3-

(a) 0.090 (b) 0.0302 (c) 0.30 (d) 0.90

@l qgare R0
TR (@) n == =101 === =0= 0090

2 639 @I4T 43 fowr fa erifEe IS 99 I T3-

'[IOV 50 100 lzov
[ I

(@) 0 amp (b) 2 amp (c)3amp (d) 4 amp

YH: (a); Shortcircuit. GTHTY TOF TR (AR BT (AIE 28 TS HGS &M ©f%e, (it e
TR R 200 @I 5 T (AT &1L 59168 |

435 2fe vifFre (R @ 14km/hr | T &F 12.125km A SAHS SISy A e T g aee? [@red
@ 7km/hr1]

(@) 1.25 hr (b) 1 hr () % hr (d) None of them
TYE: (b); L
A
w=WZ—u? = V142 = 7222 = 12125km/hr :v w
., _d_ 12125km —
at=-— = lhr

w  12.125km/hr
€35 500m’® TTSTTR IR IO S 37°C | G FR LA 1 T ISR oIt e 22°C 21 ;M
TR I T AF, B < FS Sl IS TR M0 TP/ TR AR?
(a) 4.84% (b) 2.42% (c) 24.2% (d) None of them
A (a); Vy = i—: XV, = (2222 500) m? = 475.81m? . AV = V; — V, = 24.1935m3

241935
500

... (SSTA ST IRSITR ot sifeaet = x 100% = 4.84%

34.* 1050 Hz ¥=M 7 {32 @3l e T o fRa% T 20 m/sec fore @36 ARTes e va SIere

35.

T IS T A G &E? (I @ =330 m/sec)

(@) 970 Hz (b) 990 Hz (c)1115Hz (d) None of them
STAYI: (b); QTR BT (EIoT T 9T A0 AR |

.G T TS 4T 118 T, F' = (1050 x =) Hz = 990Hz

330420

23m B 43 WeR B (e 9F I et fiese e frrwer w9t @1 A wienat @3 @ i R 3m
TRT T TR (T | 4 TS 04 TRt &7 40 m/sec | FTw Fara TS 04 siferan F© fea?

(a) 33.9 m/sec (b) 34.8 m/sec (c) 40.7 m/sec (d) None of them

YA (b); v2 = u? + 2gh; h = (23 - 3)m = 20m

2u=,/v?-2gh =402 -2x98 x 20ms~I = 34.8ms™*

g |
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a5 Fieelt & 500K ST ©i%t B At 300 cal O &% T W32 O ATF 225 cal O I a1 i
ST SO F7
(a) 666.67 K (b) 135K (c) 300 K (d) 375 K

dy =Tz . _ (225 =
T (d); & = ..TZ-(300><500)K 375K

5.5 m 1 @36 IR o #Mfrs S| “Hif T efeorars 1.33 T B (e R offba oot eige g (I
FORF BT (T AMK?

(@) 4.135m (b) 1.36 m () 7.32m (d) None of them

TAA: (b); Ax = d x (1-ﬁ) =5.5x (1-)m= 136m

133

fiw g ST AT 1S 3T TveR NS WG | @R 211 3% i IR fedfs W @, wima @i
A SATS F6?

(a) 1:2 (b) v2:1 (c) 1:v2 (d) 2:1
- (o) X 2PN 2 Wi V2 Li_ LW _D2_ 1. .
TA: (C); - x I X WE = - x 21 x W] s S ot s ol NI V2
G35 BT O RIS S S AP y = 1051n(£—12—0), @A X 6 y &7 4FF GIHROE 4R t 97
G T | SIAY *if6 F67?
(a) 500 cm/sec (b) 50 m/sec (c) 10 m/sec (d) 400 cm/sec
. v : t X\ _ s 100, N _ o 1 -
AY|: (b); y = 10 sin (m— ﬁ) = 10sin 00 (o.ozt x) = 10sin = (5000t —x)

v =5000cm/s = 50m/s
3T o7 BB aa foafd 7 3@ m, = 1kg, m, = 2kg €3 my = 3kg 4 TR e (26l aga W 1m)
437 fonfb wefita st | 2219 wareg e 39

@ED o (33) O o (r) @) 06
T (2) ; Fig: § 209 1R, y o7 AT S W, (1+2+3).x=2x1+3 x5 X

X O TR W A, (1424 3)7 =32 7= 20 =0

6X2 4

Fig: il 20® 1%, x 5% IATE aa e, (14 2+ 3).5 = 3.2

2
y—W’ﬂI’fﬁFmﬁm,(1+2+3).y=2x1+3x§.~.y=%

3.6 V3 V3 35
RACT (3]
6’4 4’6

Chemistry (MCQ)

20°C SR 98.66 kPa 5Tot 0.842 kg @3B T 0.4m® SITeR wea F13 | MBS A6l o7 T 72
() 510.7 (b) 51.97 (c) 61.97 (d) 5.107

TR (b); PV = TRT = M =210 = D842X10°XB3LXEI3 5 11 11 — 51.97g mol™! .. WHRF T = 51.97

pV — 98.66x103x0.4
FAIAAIRITE 96% FHERTEN FILAD SR | 7Y FGIRIRE @i 150 gm FI=1eR H3ge I3 2t SagR S f#/or
CO, T TI?
(a) 32.256 L (b) 3.2256 L (c) 322.56 L (d) 0.3226 L
ANYA: (a); 150gm @I 96% = 144gm
22.4x144

CaC0; - Ca0+C0, - BewMy CO, @7 ISR = 22222 |, = 32,2561,
100g 224L

[1
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T 05 G FAT AW [ @ @79 6.21 x 103dm3molsec™! | ¢FR 2 T T @l
0.05 mol. dm™3 = Rf&aiba 90% ™17 FTe F© TN AIE?
(a) 2.89 x 10*s (b) 28.98 x 10*s (c) 2898 s (d) None of them

T (a); t = - — =[ b g 0.95%0.90 ]s=2.89><104s

k a(a-x) 6.21x1073 * 0.05%(0.05-0.05%0.90
25°C ¢ 35°C oIy 3o qemafe Rfeae 99 @9 W@ 2.25 x 102 min™! @43 7.10 x 10~?min™?
ffeaifba sifeam & 392 (R = 8.316JK~1mol ™)

(a) 8771].mol™* (b) 87.71].mol™* (c) 87.71K].mol ™! (d) None of them
v (K2) _ Ea (T2-Ty 71x1072\ _ Ep , (308-298) o _ 3 -1
TIA: (C); In (K1) TR (Tsz ) =In (2.25x10‘2) = 3an < (298x308) * By = 87.7 X 10°Jmol

SHICAAE FAGeIE oF NHY @k, = 5.8 x 1071 &1 NH, @7 K, @3 7 37

(@) 58x 107 mol.L™*  (b) 5.8 x 10™*mol.L™*  (c) 1.72 x 10~mol.L™*  (d) 1.27 X 10™5mol. L™*

ST (€); K, X Kp = Ky = 5.8 x 10710 x Ky, = 10%* - Ky = 1.72 X 10~ molL™?

500°C SR ARIFIREE® (C,Hg) 93 Frem @36 eow @ fifeat) « R e 899 9.2 x 10735711 &
TR 1.0M BI0R 90% REred Z0© T 77 AkIE?

(a) 100.82s (b) 200.53s (c) 250.33s (d) 300.25s
TR (0); t = 1In-2- = ———In(——) 5 = 250335
63.5 gm Cu FIITAITE e 2T f stfemrd fam w1t fre 20a?
(a) 96.500C (b) 1F (c) 2F (d) 3F
STAY: (C); Cu2++2e - Cu(s) .. RGBT 2F
2mole 63.5g
IR 5 1Y IR SIRARE?
(a) 64Cu29, 64Zn30 (b) 3SC117, 34S16 (C) 305114’ 311315 (d) 1H1, 2H1

A (a); ©F I AN
02~ SIRTAE FRIE 140 Pm @3k Tit" SR R 68 Pm i Ti0, "HHrasd AR 747 $072
(a) 6:3 (b) 6:6 (c) 8:4 (d) None of them

TG: (); 7, = o = 0481 0414 — 0.73 4 7045

Ti** 3 AL AN =6 . 02 97 AT AR =3 [Ti0,] - Ti0, 97 AT 77 = 6:3

ﬁm fTefFamag ug i @mels SR ERE?
235U92 4OArm
(a) *Hy, °Hy, *Hy (b) 27Uy, (©) “Kyo (d) **Cg, "°N, 604
238U 40Ca
92 20

g (d); FI8GR et T |
a6 BTG 25 ml, NaOH %Reltss &«ifite F0% 16.5 mi, 0.125 M H,S0, %3¢ 21 e NaOH Hteid varaf
T A?

(a) 0.0825 M (b) 0.1894 M (c) 0.0125 M (d) 0.225 M

STAIGA: (ANS. (R); €;5,V; = €,5,V, -~ 1 X 25 X's; =2 X 16.5% 0.125 . s; = 0.165M

A9 &9 Tl (U AP Ted AR S| [Ans: a]
i) o3 @G Fo1-Grs1 T @7 Twrzaer?

ii) 52 @A (NG @2 R féraptera ordg?

(a) Maleic acid; Cs — Cy, (b) Lactic acid; C;3 — Cyg

(c) Butane; C;5 — Cyg (d) Dimethyal Ether; C, to Cys
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0.20 gm (& G FHBRAT &eliaiice {Fsme $0 0.1167 gm BaS0,, N6 (1 | AT ol 74 e 3911
(a) 23.53% (b) 10.01% (c) 8.01% (d) None of them

IA: (C); @9, @ € off T = 2202 = 0.016g .. w1 R = (222 100) 9% = 8.01%

137+32+64

AT PNSTET (AT A B @R hs: [Ans: c]
i) SR e tefive TR T ERD?

ii) QT (A QT TR [ @62

(a) Methanol; Zn/HCl  (b) Ether; Sn/HCI (c) Surbital; Pd/H, (d) Glycol; Zn — Hg/HCl

o 2T (/T T o7 @R S| [Ans: b]
i) fitR @S @EmIEs W3 Aae?

ii)* fTR RfS FBrers R T9=R 72

(a) AlF,.2NaF; C,HsCl  (b) AlF5.3NaF; CgHeCls (C) AlF;.2NaF; CH,Cl, (d) AlFs.4NaF; CHCI,

ATH SR (AT TS eI [RR AG | [Ans: a]
i) Bt e <1 o (PmiG?

if) feifrRa spefeIcee Sgw Tea @G ?

(a) SO3H; 81 (b) —NH,; 100 () -X; 74 (d) —=CHs; None of them

Aewa et (U HoS VeT @R Al

i) TR feratesm Rfgar 249 Besim @i ? [Ans: b]
il) Mo @steler 0Ly @G Sifbe c@el?

(a) R — CONH,; CH;3COCI (b) R — NH,; Ag(NHs)Cl

(c) R—COCl; Ca(oclcl (d) R— COBr; (CH,4C0),0

fAT53 ereTen (T T Tew @z M | [Ans: a]
i) T FTG FIR T (@A RFREB BIZR 31 ZH?

ii) 1o A fAToe @ eifest offerar?

(a) Tollen reagent; Isoprene (b) Grignard reagent; Isobutane

(c) Lucas reagent; Isopropane (d) Neslar reagent; Isopantane

fAT5% ereTen (T ST Ve @z e | [Ans: d]
i) CAEIETaTT (ot ARTIem 1 T (@ Tarere?

i) R R at fArse @S e 3 AR

(a) Extractive distillation; Nitrobenzene (b) Destructive distillation; Anelene

(c) Steam distillation; Toluene (d) Fractional distillation; Phenol

fAToe et (e AT Taw g e |
i) fTee @ m @B AW et Sorers R stheat ar? [Ans: b]
ii) Sy @7 e A IRG?

OCONH; OCOCH;3 0cocl OCONH;

o COOH COCH OH Cocl
(a) Oxalic acid; (b) Glycerol; (c) Oil; (d) Fat
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61.

62.

63.

64.

65.

66.

67.

68.

69.

70.

Today perhaps your only association with the word ‘polio’ is the Sabin Oral Vaccine that protects children from the
disease. Fifty years ago this was not so. The dreaded disease, which mainly affects the brain and spinal cord, causing
stiffening and weakening muscle, crippling and paralysis- which is why I am in a wheelchair today. If somebody had
predicated, when I was born that this would happen to me, no one would have believed. I was seventh child in a
family of four pairs of brothers and sisters, with huge 23 years gap between the first and last. [ was so fair and brown

haired that I looked like a foreigner. I was also considered to be the healthiest of the brood.

In this passage, the narrator is a patient of: [Ans: d]
(a) heart disease (b) paralysis (c) nervous weakness (d) polio

In this passage, the word ‘brood’ refers to: [Ans: b]
(a) children in the family(b) polio victims (c) foreign children (d) Indian children

Choose the correct ‘Passive voice’ for the following ‘Active Voice’: ‘His conduct annoyed me.’ [Ans: a]
(a) I was annoyed at his conduct (b) I was annoyed by his conduct

(c) He was annoyed me at his conduct (d) I am annoyed at his conduct

Choose the “Synonym” of the word ‘August’: [Ans: c]
(a) common (b) ridiculous (c) dignified (d) petty

Choose the correct ‘Indirect Speech’ of the following ‘Direct Speech’: ‘Are you hungry, friends?’ Said the shrewd
king. [Ans: b]
(a) The shrewd king said addressing them as friends, if they were hungry.

(b) Addressing them as friends the shrewd king asked if they were hungry.

(c) Approaching them as friends the shrewd king said if they were hungry.

(d) Addressing them as friends the shrewd king said if they are hungry.

Choose the “Correct form of the verb” in parenthesis of the following sentence:

‘Ali would rather.............. (sleep) than worked last night.’ [Ans: a]
(a) slept (b) have slept (c) have been slept (d) will sleep

Choose the ‘Complex Sentence’ of the following ‘Simple Sentence’:

‘I follow my father’s example.’ [Ans: a]
(a) I follow the example which was set by my father.

(b) My father not only made an example but I followed it.

(c) My father asked me to follow this example.

(d) My father would rather that I follow his example.

Choose the ‘ Appropriate Preposition’ to fill in the blank of the following sentence:

“The driver stopped just .......... time to avoid an accident.’ [Ans: a]
(a) in (b) by (c)at (d) on

Identify the “Correct Translation”: ‘EIFIaa To18 Tt €7 (BT 4 GF0! Q@R ot Zror 7 [Ans: b]
(a) Real flowers hardly could have smelt better. (b) Real flowers could hardly have smelt better.

(c) Real flowers could have smelt better hardly. (d) Real flowers could smelt better hardly.

Choose the “most appropriate choice” of the meaning of the underlined idiom in the following sentence: ‘Professor
Frank Banks is on the wrong side of seventy.’ [Ans: b]
(a) Less than seventy years old (b) More than seventy years old

(c) Seventy years old (d) Eighty years old
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CUET ADMISSION TEST 2017-2018

Mathematics (MCQ)

a,bec TTAFCTAV = (x +y + az)l + (bx + 3y — 2)] + (3x + cy + 2)k (T wTgfdliy a2
(@ 311 (b) (3,-1,-1) () (-3,1,-1) @ (3,1, -1)
i j k
Y (d); YxV=0= - 7 P 0
X+y+az bx+3y—-z 3x+cy+z
2ic+1)+j@a-3)+k(b-1)=0=a=3b=1c=-1
V=64 43 7 F9?
(a) None of them (b) +2i,+V3 £ 1 (€) +2i,+V3 +1i (d) £2i,vV3 £ i
TMY: (a); V=64 = x = x° = (80)2 = x3 = +8i = (+2i)® = x = +2i, +2iw, +2iw?
=121,121(”2“_) +2i (1«‘) +2i, +(~i - V3), £(=i + V3) = £2i, (i £ V3)
é]ﬁWZOm‘Z@&@%WWﬁWWWSm/seCZ W‘T{f?‘fﬁmmﬁliﬁﬁmm/sec
AT (TBITS AT FOT 27 I T 470 oMd?
(2) None of them (b)-10or; (©) 10 (d)100r -3
WW:(C);20+13t=§3t2=>3t2—26t—40=0=>t=10,—§ 2t=10
e ot aeifSn e e S 4 = 4 2+
(a) None of them (b)3+e (c)3—e (de-3
. . _4n-3 _ 4 _i . _oo 4 - _ _
SIS (b); n X °W, u, = — =i = ..Sn_gjzl ((n—l)! nl) 4e—3(e—1)=e+3
foafs vt e =T @ WY 37 SR 1 3% 0 3 B AWt @ 2 15 5y 3=, @ AH 4 B A8 5 o 7=, ww A 2
5 a1 @ 4 5 M 35 SR G I WA SN o e @b 397 T =11 I =5 et 27, o =6 &
N YO (TG AR F6?
4 10
(a) None of them (b) . (©) e (d) E
+[3R] [4R] [2R
wm(c), i
A T GO T = 2 X 2+ 2 x 242X 2= 22 1 S T W 7 1 GO TG = S X 3 = —
4
 fefromere = £ = 2
135
€31 “ifeeil SIFE ¥R @IS F& 5kg «3R 3kg OFE 120 98 93 <fff T&x *Itd S/ITd Y= 4sec 7 OB
TRIG o111 2Tt SR Ol TR BT 3R WK FOT o171 AL T SPACa?
(a) None of them (b) V5 sec (©) (V5 - 1)sec (d) (V5 + 1)sec
. .. _ (mi-m 5-3 _g
T (d); 2 = (mi+mz) £= (5+3) 8=
4s°ﬁwmm=4xz=gms‘lnﬂ?\m:%x%xz}z=2gm,?@ﬁ@@\‘3‘@m=§_;=§m
C'<F§\'JWWT§Wt'{Cﬁ,n=—ut+1gt2=>2g=—gt+§gt2
2-2t-4=02t=2Co 14 VF b= (V5 +1)sec

welSAMission Tech



07.

08.

09.

10.

11.

12.

13.

14.

BDNiyog.Com-40

Admission Tech

ABCD SITSTFT@R AB, BC, CD, DA €3 AC (! TR TGN 3,8,7,11 @ 5 47 IR IS SR I AC = 10
@3 8 BC = 6 O3 T O3 IT Al 78 P TINF 47 W 0 A7

(a) None of them (b) 35§ unit (¢) 53 unit (d) 106 unit
D C

YA (d); gaas + AB=84FF
A B

A Re¥8 T @INF @ = AB.O + BC.8 + CD.6 + DA.0 + AC.0 = 64 + 42 = 106
x2 + y? = 16 067 ~14F X S 0 30° et Trofy 771 7 1effba TRt e a1

(a) None of them (b)V3y=x-8 (c)y=+3x+8 d)V3y=x+8
T: (d); =M Aol y = mx + V1 + m? = y = mx + 4/1 + m?
1 1 8
<9I, m = tan(30°) = = ..y—ﬁxiv—g:ﬁy—xi8
Xy +x%y? = C’fﬁ}ﬁ‘ﬁ?% G3 N 39 237
(a) None of them (b) 3 (©2 (@ -2

T: (d);xy +xy? = Cox T4y + 292 + 2y L = 0

2.4 4Y oar ﬂ__y(1+2xy)__x
= (x+2xfy) =4y 2yt =0 == -5

dx x(1+2xy) ~ x
100 (ITF 999 HLANSTAIR T @ 7R 1 6 @ 8 2 16 et o ©itg ©iwa (b ARyt 672
(a) None of them (b) 300 (c) 200 (d) 150

A (b); ST AT 1 (UF 9 €T M 43 7 | ARM, TWIH AFLEMS 0 AFIA | (0 F (&g 3 Reemg
fRramat a1 2=t )

Case — 1: 1 15 e 3k 2 5 Samt fRree oik@ A1, *C, x 5C, x 31 = 240

Case — 2: 15 (e @22 2 5 962 e 2 &, “C, x 5C, xi—j: 60

~ (NG 1T = (240 + 60) A 300 &

i 2 vter e D STt a o+ 3y — 7 = 0 TG B 7 2, O @ 4 WA -

(a) None of them (b)3 (c)2 (d)-2

T (0); () (=5) =-1=2a=2

T 5 92 lim e

x-0 3x?
2 7 49 6
@3 (b)3 ©~ ()
. L1:.. 1=cos7x o s 7sin7x o 1 29C0S7X 49
TR (c); lim — 5 [;W@f\@]—}({% i W]—)l(l_l}g — =
2= j+ k@@ + 3] - 2k coFamm @i SRR b AfRRe g i T4, o craw 7
(a) 3V3 (b) 5V3 (©) 5vV5 (d) 3v5
S T 1 [ _
TMGH: (b); [2 -1 1 |=-1+5+7k - cFa®d=vI+25+49 =75 =5V3
o 3 -2

10 fe Gy ff4® @3l 9P «F arm ¥ e earER e SEAEA BIR GR S99 & 9FH TF IR
Tofefge s ivre 919w TR0R) W IRl (reartem o= ffsgT A ok 3 Bom B Fo )7 [,
GG 6w 10000 1b '€ TS 3 ft ]

(a) 11277 b (b) 10000 Ib () 10277 b 9731 1b
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W
T —.W__ 10000 _ _ v132-32 410
AT TAAMT TP, ———— Sm(ﬁ_e) = oo 2 T =505 = o7 = 10277.421b [49T, sin @ = === =]
13
15. A+B+C=(2n+ 1)§‘¢:Cs’ftanBtanC +tanCtan A + tan Atan B U9 II9 (9 F91
V3 1 1
@2 Ok ©1 OF
T (C); A+B+C=(2n+1)7 = tan(A+B+C) =tan{(2n+1)3}
tanA+tan B+tan C—tanA+tanB+tanC _ 1 _ _
YT T TG = 1—(tanAtanB +tanBtanC+tanCtanA) =0
= tanAtanB +tanBtanC+tanCtanA =1
16. 2(sin@cos6 +\/§) =+/3cosB + 4sinf; 0<6< E&NWW @€
@3 7 ©3 OF
FIYI: (a); 2(sin 6 cos 0 +\/_) V3cos6 +4sin® = 2sinBcosB — 4sinb + 2\/_ V3cos6 =0
= 25in 6 (cos® — 2) ~v/3(cos® —2) =0 = sinf = [cose¢2]=>9——
17. y*=6x"RG 8y =xwwwmwmwl
(a) Zgé unit (b) }3‘3 unit (c) ? unit (d) 6?4 unit
(6,6)
3 6
T (5 Taw R):; -'-W=fo6(\/§—x)dx= [\/gxgﬁ_ileo -6
18.  (1+x%)73 g3 faghore x** @7 7=l A 41
@2r(r+1) ®) @r—1D(r-1) ©@+1Cr-1) @@+ +1)
S: (d); x4 97 72, (—1)2r3(3+”(3“Z:)“f3+"'” = (jg‘zzr)) =l@r+@r+)=C+DEr+1)
19. @b 3 39.2 m/sec @7 TRRAIC 30° (HIee! fAfee 271 T© T =17 @M fAeFe! e sMice T/Her bera?
(a) 9sec (b) 6sec (c) 7sec (d) 8sec
u
STIEA: (d); ‘ -
A >
J
-7
V=Uu+at=>v.i=uu+ @ Ut=>0=u?+aucos(90° +30°)t
2 T u_ -
3 u’—ausin30°xt=0=t asin30°_gsin30°_8s
20, [Sldx @7 IR @@
(a) None of them b)x+ glog(l +e3)  (©)x+2log(1+e™3)+C (dyx— %log(l +e3) +C
. (351 _ dx e 3X
TR (b); [ (S dx = [ dx =2 [ e =x =2 [ o dx
=x+ %log(l +e73%) + C ; [91 log W7 o6 e]
ol | e o S
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21,

22.

23.

24,

25.

26.

27.

28.

Physics (MCQ)

&3 SIRGITER Teredte @ 1,50 @32 G TEH 0.3A 75T - MATS | €3 ARIRT 2.0A G 28R ToATS
TS @ITEE A HAP TA?

(a) 0.234Q (b) 0.2220 (c) 0.254Q (d) 0.2640

I: (d); Sl = Rl = § = R () = 02640

TR @7 fafod *Rrem SR T8 2 6 x 1014Hz 1 MRS 7fb (ot @ras 1478 3G 0.7mm | M6 7 1.4m
T ACE O A foq 95 T4t g w07

(a) 0.95mm (b) 0.91mm (c) 1.033mm (d) Imm
WW:(d);x=%=§=>a= 1mm

5kg © 6 0.25m APIE BB @3B @& 50 rad/sec @ @ eite U O s 762

() 0.078] (b) 390.63) () 0.78] (d) 585.94J

A (d); Ey = %mv2 + %Iwz = %mwzr2 + %mkzm2 = %m(r2 +kHw? = % X zmrzoo2 = 585.94]

91, Fferera (o) @t Tamm)

GF AT RATF 2sec @7 (@ | FEA O WE 20 sec A BT 93 MG F© RIS 0 55 2 sec
(AT Fea?

(a) 20% (b) 199% (c) 0.046% (d) 200%

T (0); Ty = o = 25

}i = (t—j); = t—j = (I—i)z =1.00046 . 070 M T = (1.00046 — 1) X 100% = 0.046%

9 Ao Ot Gl ATErE AR 600 (T o 277 Gae AR WY AR @A 12° sivadl e ) AR
AR (@it fefy 11

(a) None of them (b) 4.16° (c) 76.48° (d) 13.5°

TL; (C); g = gl‘—; = 4165 ; FYRG @1 = tan~! 4.165 = 76.48°

2.7 x 10* amp/m SRETR ¢F6 GF (F0F 0.2 X 10™* m? (FIHE G310 ET 08 5.3 X 1075 Wh FIF Beo|
| OIFF St M =

(a) None of them (b) 1.43 wb/m? (c) 1.96 x 10™°Wb/m?  (d) 2.65Wb/m?

TR (d); S = 7 = 2.65 Whm2

&% < @AM 4000 I27 (SafE ffega fgrae Ft 1/5 et 2fers =1 @R w1 63 fda 33

(a) 4.02/year (b) 1.609 x 10™*/year  (c) 4.02 x 10*/year (d) 4.02 x 10™*/year

T (d); k = %lnr\;—° = 4,02 x 107*/year

@7 TIrF qEE oTE ¢ WOWER @R RY WG 0.02m ¢3R 0.07m | O TGS 77 0.20m |
SSHCH A TS I (I TG 117 30 Hera o 0.25m Y7d OfF el o1t Ta?

(a) 23cm (b) 23m (c) 0.023cm (d) 0.023m

I, (o) TR OF0, =+ - = == e =Zm av,=(02 -;;)m = 0.145m
Wﬁamm,u—i+é=%:uo =0.023m

=1
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Semm®
3B TG ©F R O 4 ) TGO I FX R FMafie O @3 IR TR Fo 7372 (€6, TR
4 = 2 X 10%kg] '

() 11.85km (b) 11.85m (c) 11.85 x 10%km (d) 1185km

T (a); R = 25* = 11.85 Km

TG BE 0.25m 9% G TR (TITS ST 1O 0.35m YR TG (TS A F© Fe (779 IR FACO A?
(a) —1.143 (b) —2.143 (c) —6.857 (d) -8.857

TR (a); s +-=1=P; u=035m,v=-025m ~P=-1143D

127°C €3 427°C SIRITR W4T I 3 2= TSIy T wvel F© A2

(2) 23.62% (b) 42.86% (©) 50% (d) 70.25%
T (b);m = (1 - —) X 100% = 42.86%

7% (o34 A J2ET '8 THT AR TUAETH 28 9FF 8 4 47| A 7B *RF>1 ML 90° @t T G341
Tofg et e | il i T2

(a) None of them (b) 28 unit (c) 24 unit (d) 20 unit

J0YH: (d); P+Q=28P-Q=4

TN 1 0 1% = /P2 + Q@ = \/é{(p +Q7 + (P - Q)2} = 20 unit

35 A =if AR T Sm, &F 3m @ AT 10m 1 80% FHwe! [REE M <=1 20 RS Ffbre Ay
FAO AT | A7 TrTTS! F6?
(a) None of them (b) 6.6HP (c) 8.21HP (d) 10.26 HP

TR () 1 @ e et = 1 = 2985
- AR Tl = 222° % 100 = 7.656 x 10° = 10.26HP

@3B 300m3 w@mmm@rw 27°C | GTRTAT IR TR G ISR SNt F 17°C 21 M
TR ARGIS A AT, O 1ot Foerst IO T T47 KI/ITRA 2 A ?

(a) None of them (b) 10% (c) 30% (d) 3.33%

AAYA: (a); PV = n,RT;, PV =1m,RT,

= 6125]

_ . mz_Tl Am Tl Tz
:anl—nzTZ:m1T1—m2T2:;;—E:m—l (T

G5 *7 o TS 3 TG 1080m g ST 01 €% *1% SIAR SHHAL 60cm T SIAR KT T2
(a) None of them (b) 10 sec (c) 1sec (d) 0.1 sec

T (d); o = 16ms ™, T—-—O.ls

A% A GG TV 60km/hr FNICH bR | O @F( MY B @F2 e 70km/hr Tt A BT Sepret =)
T4 % 724 Terola vAg 2.5km T O B “Mfefq sfetast 20 km/hr? [ QI (AT® AMF | FS YRG '8 HA A0
B 1R A 1ot wwre “rta?

(a) 37.5kmand 0.25hr (b)32.5kmand 0.50 hr (c)30kmand 0.50 hr  (d) 60 km and 0.25 hr

AN (b); 2.5 + 60t = 70t-§x 20t* = 10t — 10t +2.5=0=>t=05hr

) x 100% = 3.448%

- § =70t - - x 20t? = 32.5km

3 P Tolar g R @3 WS Boerr 8km/sec @ AR, ERIY WeTE® G I gy = 8 m/
sec? 1 g-opp (AP Toiarfoa Tt fef v

(a) 1600km (b) 4000km (c) 14400km (d) 8000km

(o) — [GM _ _ _
TN (a); v = ’M = Jgn(R+h) = R+ h = 8000km = h = 1600km

~
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9% A ¢ e Sist JoiteR Aea FAMFER i@l 0°C1 T% AAMIFER PR F© e o

38.
fapyere =& 10500V 232 [€7, a = 12p°C and b = 12pum/(°C)?]
(a) 105°C (b) 700°C (c) 327°C (d) 100°C
FAIYI: (No answer); E = a0 + b2 = 12 x 1075(8) + 12 x 106(8)? = 1050 x 1076
= 1202 4+ 126 — 1050 = 0 = 6 = 8.867°C
39.  «3f5 wpfess ot TS 1200 I @1 X5 3% 919 2 WG o ARG 3= 0 T 1 T TS et SARIS @
TR F© FA?
(a) 1500 rev (b) 2000 rev (c) 3000 rev (d) 1200 rev
TG (d); 0 = (*522) t = 1200 rev
40. RS GFO I APAE 99m GR AT A4S 12D 4y Eg 1.5m | Feotes oire suer It Ao Foxif
By T IR AATS 1ot 1ot ST 1 503 @3 G 9.8m/sec TOTO IF TS AT ?
(a) 1.6m (b) 1.3m (c) 0.148m (d) 1.48m
FNIGI: (C); tan® = g = tan® = 0.099 - sin® = 0.0985; 115 =sin® = h = 0.1477 ~ 0.148m
Chemistry (MCQ)
NO2
41. @ +HNO, CL“GZ%O‘*—» @ +H,0 Rf&xifbrs HNO, @3 o=t 72
(a) Base (b) Catalyst (c)Acid (d) Indicator
FAY: (a); H,S0, + HO — NO, — f\}oz + H,0 + HSO;
FRMGT affTe OH- emiF 31 o, At 3 F= (base) |
42. 1UPAC *Mfet® CH;CH,CH(CH,)C(CHs), @i i ==
(a) Ethane di owic acid (b) 2,2 — di methyl, 3 — ethyl pentane
(c) 3,3,5 — tri methyl hexen (d) 2,2,3 — tri methyl pentane
CHj3 CH3
STAI: (d); CH, — CH, — (|3: H- ¢ — CH,
CHj3
2,2,3 — tri methyl pentane
43, @ TR TET T 1g TR GAgS MR & TR 50mL CCl, T2 IR T 730 &7 Fo A e
TRfE ARFI? [49, CCl, 8 A 747 1, 97305 @olF 2 80 1]
(a) 0.8g (b) 0.6g (c) 0.4g (d) 0.2g
FNYI: (d); 47, g Tt ST A = x gm - % = % = 1002(2)1(—@ = 81—0 = ﬁ = i = x = 0.2gm
44, TENIIE IRCS 25°C @ TEF ITHI T AT 0.0287 €3 AT B =t 0.977 atm T, IS TEAT AR
efar Biot F© 2A?
(a) 0.30 atm (b) 0.948 atm (c) 0.028 atm (d) 0.029 atm
FAIGI: (C); S Biot = GG Biof x G ©aifest = (0.977 x 0.0287)atm = 0.028 atm
45. Y G FRE[F TS 585 ppm NaCl SR 1 @ #HifATe NaCl @3 (it 3?2
(a) 0.05M (b) 0.04M (c) 0.01M (d) 0.03M
SI4TA: (c); 585 ppm = 585 mg/L = 585 x 10~3g/L = 221 g1/, = 0.01M
Tl
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46.

47.

48.

49,

50.

51.

52.

FEfREN AR ¢ FEEARG e e 1.0 x 1054 Ry ST T AR SEA FNE IO R
SeRAAT Seory 2a?
(a) 268.6kg (b) 307.6kg (c) 9.95kg (d) 805.8kg
TAIE: (a); AR +3e” - Al
3F 1 mol
Q =It= (105 x 8 x 3600)C = MF = 29844.56F

96500

29844.56
m= 3

3 R e @rm e 2.4% 3T ATwR T7TS 3.1 x 107kg FTT CAMBIAL T STP (S TR SO, MR
Sew fd F1
(a) 2.17 x 107L (b) 5.21 x 10°L (¢)5.21 x 108L (d) 2.17 x 101°L

mol = (29824'56 X 27) gm = 268.6kg

744000x103

ST (C); 33 TIATRIGe @ = (2= x 3.1 x 107 ) kg = 744000kg = 22" mol = 23250000 mol

$+ 0, = SO, - ng = ngp, = 2.325 x 10"mol

= STP (® SO, €7 WSA = (2.325 X 107 X 22.4)L = 5.21 x 10°L

300 mL 0.2M ¥91@ NaOH B¢t 100 mL 0.1M ¥51@i H, S0, A St ofeifife i 211 SRf*% NaOH
AT Tt e 9

(2) 0.14M (b) 0.15M (c) 0.04M () 0.1M

ST (d); nyaon = (0.3 X 0.2)mol = 0.06 mol ; ny,g, = (0.1X0.1)mol = 0.01mol

9% (T H,50, 2 mol NaOH & e 3|

- 909 9148 NaOH = (0.06 — 0.02)mol = 0.04mol .. S<f*8 NaOH GI09 IuIar =

0.04
0.3+0.1

@R ¢35 Togd e An = T Fo Ut GREARREPE SR K, @7 T K, 97 T wived 73? oredt
iR, R = 0.0821 L atm mol~1 K™!
(2) 506.54°C (b) 34.45°C (c) 97.45°C (d) 779.54°C

M=0.1M

64

i
TEA: (a); Ky = K (RT)™" = 8K = K.(RT)Z = RT = 64 = T =

AT I Agb *rmted IR FCARGA FIONAT (IR

(2) (n — 1)d"ns? (b) (n — 1)d°ns? (c) (n — 1)d*°ns? (d) (n — 1)d*°ns?

ARG (a); SR T (A o g 2GR (Pu) | g @b option @ (R | O3 TH0GR i (A 2w AR
(76); GBS option @ @R | O3 &8 @B T Iridium(Ir) I ARMART 21 77 @ RIS T
(n—1)d’ns?|

TR T O3B T pH 21 3.80 | & FLAR OH ™~ 7 TG S (M2

(2) 1.58 x 10-5M (b) 6.31 x 10~11M (c) 5.29 x 10710M (d) 6.98 x 10~°M

SY: (b); pOH = 14 — pH = 14 — 3.8 = 10.2

—1log[OH™] = 10.2 = [OH™] = 107192 = 6,31 x 10~11M

25°C ©I@r 8 2.5atm BT PCly 65% Ruifeie = PCl, @3e Cl, Beom 301 @ e K, @3 19 $?

(a) 7.475 X 10~2mol L™! (b) 8.101 X 10~2mol ™! (c) 6.239 X 10~3mol L™ (d) 7.263 X 10~2mol L

K = 779.54K = 506.54°C

2
AT (a); Kp = P = [peetss X 2.5 atm = 1,829 atm

Kp _ 01829

. = An _ .
“Kp= K (RT)*® =K. RT = K, = RT ~ 0.0821x298

mol L™t = 7.475 x 10~2mol ™!
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53.

54.

55.

56.

57.

58.

59.

60.

61.

D SN OI (8K W 15 min 408 0.1 mA R 5ot w01 T LrealA 2aifRe 20a?
(a) 4.84 x 10V (b) 8.60 x 1018 (c) 2.31 x 10 (d) 5.62 x 10%7
TEE: (d); Q = It = (0.1 x 1072 x 15 x 60)C

1 e QWU = 1.6 x 10-19C .. JreAgora oy = LXWXIX60 8 _ o or 1017

1.6x10719
fAs3 @163 EMF ¥97 Zn|Zn2*(0.001M)||Ag* (0.1M)|Ag [ES,, = 1.56V]
(a) 1.59V (b) 1.46V (c) L.61V (d) 110V
T (2 B = By + S0 In 2T = 156 4 5305250, G2y g1
%mwﬁﬁﬂmwww%@wmﬁmmm [Ans: b]
(i) SO, (ii) co (iii) 04 (iv) <@ (Particle)
(a) All of them (b)i,ii, iv (c) il i, iv (d) i, ii, iii
25°C St STIfHBE @fiited pK, 2 4.76 1 5.0 pH €3 I T34 (TSI SIS (s frelta o@® 4t T2
(a) None of them (b) The ratio of sodium acetate to acetic acid is 1:1.738

(c) The ratio of sodium acetate to acetic acid is 1:1 ~ (d) The ratio of sodium acetate to acetic acid is 1.738:1
TALE: (d); pH = pKa + log 222 Zsalt £ 5 =476 +log Tsalt o Dsalt — 105476 = 10024 = 1,738

nac:xd Nacid
QLG Wﬂaiﬁmwﬂ sa‘{%m @ Y e 3 gisfie T ame e o v, oo 2 @
GRIF o 1) 367 [44, Rt €99 = 109678cm™]
(2) 4.86 x 10~5cm (b)1875x1075cm  (c) 9.72 X 10~6cm (d) 6.56 x 10~5cm
1 1 1 - -
S (a); + = Ry (;j?— ;%);Wﬁ[ﬁmﬁ@'@nl =2=109678(% ~ ) cm™ - 1= 486 x 10~%cm

T ARG 0T TRy &4 et T 3672
(a) Picricacid (b) m — Nitrophenol (c) Salieylic acid (d) p = Nitrophenol

OH
O OoN NO;

Q117
TES: (a); @ +HNO;(conc.) L()>

NOy
(Pl «fiTe)

@ AL @917 ¥(C = 0) & M 12 [Ans: ]
0 0
0 0

oA )

053 @ AeifS RIS 8 aferifba Ton «Ff ey F?

(a) Chlorobenzene (b) Toluene (c) Cyclohexene (d) Benzene
CHjs

(b):@ R CH, et e  (O) s et e erfa 351

English (MCQ)

Choose the correct “Indirect Speech” of the following “Direct Speech”: The prince said, “it gives me great pleasure

to be here this evening.” [Ans: c]
(a) The prince said that it gives him great pleasure to be there this evening.

(b) The prince said that it gave him great pleasure to be here this evening.

(c) The prince said that it gave him great pleasure to be there that evening.

(d) The prince said that it gave him great pleasure to be there this evening.

/i
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62. Choose the “Correct Translation” of the following sentence: “Sf¥ SITF (ST A (I TIFTS ST [Ans: a]
(a) I heard him to calling you by your name. (b) I heard him called you by your name.
(c) I heard him calling you by your name. (d) I heard him call you by your name.

63. Choose the “Most Appropriate Choice” of the meaning of the underlined idiom of the following sentence:
“This boy is far and away the best boy in the class.” [Ans: c]
(a) not atall (b) a long way (c) by a great margin (d) everywhere

64. Choose the correct “Active voice” of the following “Passive Voice™:
“Why wasn't the matter brought to my notice?” [Ans: d]
(a) Why don’t you bring the matter to my notice? (b) Why was the matter not brought to my notice?
(c) Why you didn’t bring the matter to my notice (d) Why didn’t you bring the matter to my notice?
Read the following passage carefully and Answer Questions 65 and 66:
Ever since human have inhabited the earth, they made use of various forms of communication. Generally, this
expression of thoughts and feelings has been in the from of oral speech. When there is a language barrier,
communication is accomplished through sign language in which motions stand for letters, words and ideas. Tourists,
the deaf, the mute have had to resort to this form of expression. Many of these symbols of whole words are very
picturesque and exact and can be used internationally; spelling, however, cannot.
Body language transmits ideas or thoughts by certain actions, either intentionally or unintentionally. A wink can be a
way of flirting or indicating that the party is only joking. A nod signifies approval, while shaking the head indicates a
negative reaction.
Other forms of nonlinguistic language can be found in Braille (a system of raised dots read with the fingertips), signal
flags, Morse code, and smoke signals. Road maps and picture signs also guide, warn and instruct people.
While verbalization is the most common form of language, other systems and techniques also express human
thoughts and feelings.

65. How many different forms of communication are mentioned in this passage? [Ans: d]
(@38 (b)9 (©)7 @5

66.  All of the following statements are true EXECPT. [Ans: d]
(2) The deaf and mute use an oral form of communication.
(b) Ideas and thoughts can be transmitted by body language.
(c) There are many forms of communication in existence today.
(d) Verbalization is the most common form of communication.

67. Choose the “Synonym” of the word “CORPULENT” [Ans: a]
(a) Obese (b) Emaciated (c) Gaunt (d) Lean

68.  Choose the “Appropriate Preposition” to fill in the blank of the following sentence: The food isnot _ my taste.
(a) at (b) to (c) by (d) on [Ans: c]

69. Choose the “Complex Sentence” from the following sentences. [Ans: c]
(a) I went there but could not meet him (b) Having taken the meal, the beggar went away.
(c) ThoughI went there, I could not meet him (d) In spite of my going there, he did not meet me.

70. Choose an “Incorrect Sentence”. [Ans: c]
(a) The company representative sold to the manager a sewing machine for forty dollars.
(b) The students themselves decorated the room.
(c) Sakif would rather stay home tonight.
(d) The salary of a professor should be higher than that of a secretary.

——ry = a =,
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BT ST G S‘ﬁ]“@jf\ ACPIELNGE!

Eab ©f5 Aftmi-205a~"sb @7 Ry ot

00O MR &ROO0O

1. wE effdram pfoare vag wesd e

2. 3L A (A 10m B QI 715 i 211§ =opd T3 1566 @17

3. » T wroat S@7 &g srasnet i Soarm 5%1047 m I 1Y e JoreTa A gace|
Ffaw TosiEa g= 8 m/s*2. arxfoa g 5?7

4, TIETHT HqE, @ AR, 96T HFE 9F Y|

5. 9T afficE gada T tid 39199 0.8¢ At WSy @ | Poaa q15foa il 8m =41,
2% 6m [[ERIEA &7 S IHIT Tz FoIe TI0F 7 @ &% TS 3@ ?

6. (FIET 9FT0 (STTIHA 4TS 56 WY 1500 31 WIHA $HIT S WY T5?

7. aft Rryta 400m THGs 700 km/h @t 5e1cE 1 Q35 @316 10sec Q@ GIE! CHECS 33| AT Sid)
ax1fba jaw fRrgre 206 36 365 33|

8. 93fd I ATTTSIE BAE@ YOE @A FES Sr5w1 39.2m | T Sworm B @1 36?7

9. WY@ TEE 306 Az TofFoe wmm 9o fd arg e am Gad 1mimyaa s8iaer 36?7
1Y 6191 101325 Pa.

10. (RT3 8 ATACHA TG (ONT 5| (EI13ra I AR Wedy AT s1e s e g @t 336?

Sazzadul Islam, CE-'15
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e5EATN @ 3 #yfe feafaneyg

11. a3f0 2m ichHa I8 &1 365 ANGE AT 10m Zichia &ifSfRT 2m j@7 o 71| ;e
G IS $97

12. 935 fBcsa AT WIT 737 2m, SIHGET 600nm QL A1 3CS 3m HI(F WIS 3 B

e sopp?

13. 935 GTRETT 419 T 600nm SIHRCICHT WIET WSS 3 fF T6@? FICers= 13.6

ev.

g Bt am simemt Gical

vt RfEae @t 33, 915 et $361 s, pH 93 9719, Torr(pressure type math),
LPG(Petroleum) a3 W71, Temperature, Extra Water #1513 {51, ToaeET afSte oreat s o=
Ny] (NG oig, w/M=(it/ef).

fRom w33 9@ Sfafyo afsft e [(fST *&Aredia T3 (I CH1 FIEE3 FLATS T19 3
SIS T AFS AR | T W 5B IR
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ﬁm% Contact: 01521307386
faa s &Y Wgew 39 AW NG 394 39 sAFS T pH
CIERE
CFeifE 393 FETTH 8.3~10.0
@&

AIETALIET 39 Bl 8.3~ 10.5
fererae = e 7.2~88
AT 2w #fel 6.8~ 8.4
QN AR =M Gl 6.0~ 7.6
fasam e e 6.0~ 8.0
frerzeae el A 4.2~6.3
RRIEGA U B 3.1~4.4
@rifee faq zm e 3.8~5.4
AT EGiLd e 3.0~4.6
ERIEG T S =W 2.9~4.0
23 g = M 1.2~2.8
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